
��������������������	
��
������������
�

�������
������������������������
��
��

�
���
��
��������������������
�
���

�
������

■ ����
��
��������
�������������������
��	�
��


�����
�����������
������
�����������

■ ���

� ��	
��!
�"��#�$���%����������&����'�


��	�
����
��()�������
������	
�%�
�����

���%��������
�"��#�����%�����������%������

��
��
*��
!
���$����+%�,����������-..

■ ���
���*�������
�����*
���%��/%
�����
�����

�
��������������"��%����01��������
������	


����
��
�

■ 2�����
�����������
�����
��� ���������

����
'��%�����������
�����
�����

■ �%���3�"
��$�����������%���
�����
�����	�
�

�
�
������	����������������
����4��������

���
�������
*
������%���%����
��
����4�����


■ �%�������������������%��%�����
������

���
���"�����"�����
�
��
������������%��%���

����
��
���������������
5�	������

■ �*����	�
�"�����
�����

���	�%
����������
��

��������%��



��
�����6����������7�

�	
��
��
���
���������������

$����
��������������#
������%����"�
�
*
�������	�
����
��%�
��*����	����������������
����%�����
�%�
8�!������������#
����
�����
�

���"���������
�������
�
��
�����6�������������	�
�8�!�������#
����
�����
��*����	�
�	%����
��%	9
����������
���
������
�8�������
�����

%��������
��������������������#�����%�������������%��
������
��
�
�����*
8���

■ �	
����������
����
������
����������

6�
� ���
�����
 
%��%�  ��
��!	���

!3!��%��%� 3!3��%��%�

������������
�� 
!,
�� ������""�� ������#"��

�%���������,���������%��%�����
�� 
!,
���������� �������"�� ������$"��

:��#��
�
������

���
��

+�%
���� 
!,
�� ������%""�� ������%#"��

;�

����� ������&""�� ������&#"��

6�����
�����
�� ������'""�� ������'#"��

�"�����
�
��
����%��%�����
�� ������""(� ������#"(�

���
���
�����������
�� ������"") ������#")



.

����������������

■ �������*�����	
����������
�

■ �	
����������
��+�
���,������-
���

6�
� ���
�����
 
%��%�  ��
��!	���

!3!

�%��%�

3!3

�%��%�

�������	�
�$���
����

<���
���
�����
��=

������������
�� 
!,
�� ������. ������, :���
� ������""

���*
 ������"�

$����
�� ������/�

�%���������,���������%��%�����
�� 
!,
���

������

������0 ������1 :���
� �������"

���*
 ��������

:��#�

�
�
���������
��

+�%
���� 
!,
�� ������%. ������%, :���
� ������""

���*
 ������"�

$����
�� ������/�

;�

����� 
!,
�� ������&. ������&, :���
� ������""

���*
 ������"�

$����
�� ������/�

6�����
�����
�� 
!,
�� ������'. ������', :���
� ������""

���*
 ������"�

�"�����
�
��
����%��%�����
�� 
!,
�� ������.(� ������,(� :���
� �������"

���*
 ��������

$����
�� ������/�

6����
����������
*
����������������
� 
!,
�� ������.� 2 :���
� ������""

���*
 ������"�

$����
�� ������/�

6�
� ���
�����
 
%��%�  ��
��!	���

!3!��%��%� 3!3��%��%� �������	�
�����
�����<���
���
�����
��=

��������

���
��


!,
�� ������"#) ������##) �3�4��#�"�#/ ��

�3�4��#���#/ ��

�3����#�"�#/��5



(

����������������

■ 4������	
��������������*�-���
6���	
�%!�736�����53�#�����
+��8���		!��-�
����

��
�� "9 �������
��������"
�
����%����%�
��	
���
�>%�
�0?��.@@0��������	
�����
�
��
������
*��
!
���$����+%�,����������-..

�
�"��#�����%���������8

�9 ��
��()���!��%���	
�������
�������
�����
��������������%���������%��������������������
���	�
��	�*
��������
������������	
�

%�
������
*��
!
���$����+%�,��������-..��
�"��#�����%���������8��
�
�������	
��!
�"��#�$���%����������&������������

��

<$�����8��(.(��0�0=������
�����8

�9 ��	
���������
��%���������!
�"��#�$���%�����������%���	
�%�
��"�������*
�����
�����8�

■ (��	�����%��-8��	
�������������*�-���
6���	
�%!�736�����53�#�����
+��8�

��		!��-�
����

��
�� �����%��������"����
����%����������������"�������������"�����������
�����
�����
����8�$���
��������%������������������
���	
�

!
�"��#�$���%���������&������������	�
8

���
 ���
�����
 
%��%� �������	�


�
�"��#

����%���������

��	
��!
�"��#

$���%���������

&����<
��
�

�
�����
��=

<�

����
�.=

���*
�$���
�����

������	
���������
��

&���

<�

����
�(=

 ��
��!	���

!3! 3!3

���
���*����

���������

���
��


!,
�� �
*��
!
� �()����.0 �()�$!@. ������.

<�

����
�0=

������,

<�

����
�0=
$����+%�,� �()����.0

���-.. �()�$6�00

�()�$!0.

���
���*����

+�%
�����

���
��

�
*��
!
� �()����.0 �()�$!@. ������%. ������%,

$����+%�,� �()����.0

���-.. �()�$6�00

�()�$!0.

���
���*����

;�

������

���
��

�
*��
!
� �()����.0 �()�$!@. ������&. ������&,

$����+%�,� �()����.0

���-.. �()�$6�00

�()�$!0.

�����

�����
����
*
��

�����������

���
�

�
*��
!
� �()����.0 �()�$!@. ������.� A

$����+%�,� �()����.0

���-.. �()�$6�00

�()�$!0.

�"�

���
�
��
���

�%��%�

���
��

�
*��
!
� �()����.0 �()�$!@. ������.(� ������,(�

$����+%�,� �()����.0

���-.. �()�$6�00

�()�$!0.

���
 ���
�����
 �������	�
��
�"��#

����%���������

$���%���������&���

<���
���
�����
��=

���*
�$���
�����������	
��

�������
��&���

 ��
��!	���

�
�������	���#

<�

����
=

�
*��
!
� �()����.0 �()�$!@. ��1�(�"

$����+%�,� �()����.0

���-.. �()�$6�00



-

����������������

■ �����-
����:;�����3�
���
��<=

��
�� ����#
�������$���
��������
�����%�
��������
�����
�8

■ �,������-
����:;�����3�
���
��<=

■ 5�	�
�����
���� �����		���:;�����3�
���
��<=

6�
� ���
�����
 $�	�
��
���� !�8��������%�����  ��
��!	���

:���
��$���
����

����"��
���*�����������
��%����

.�� ( ������""

- �������"

���*
�$���
���������

"��
���*�����������
��%����

.�� 0 ������"�

. ��������

���*
�$���
���������

��	
���
�"��#�����

�%���������

�������
��

0�"��
����� A .�� 0 ������"�

$����
�� A A ������/�

��B
 ���
�����
 !%�	
���������%����� $�	�
��
����  ��
��!	���

�������������
�����

�����
�
��
�

- .���<18C1���8= �3�4��#�"�#/���

C���<018-0���8= �3�4��#�"�#/$��

����������
�������
�

�
��
������
����

- .���<18C1���8= �3�4��#���#/���

C���<018-0���8= �3�4��#���#/$��

�������������
�����

��%	�
�
��
�

- .���<18C1���8= �3����#�"�#/��5

���
 ���
�����
  ��
��!	���


�����������%����������
������������
���

��	�
���$������
�

3�"
���%������
����7�$����
�	�
�	���
��

������""

3�������
� ������""��"


�����������%����������
�� ������""�'"

$�	�
�<08�C��= ��1�>"��"

$�	�
�<C8@��= ��1�>"���



C

����������������

■ �--���������:;�����3�
���
��<=

��!�
����%��-8�
�

���� ��
�

;
���
�������
�!-
�����3
�-8��

■ ��	��������!�
�
����������*�����	
�����������������-
���������

��
�����	������"��
���*�����������
������
��������
����������
�����
��
�����
��
���%���������*
���
����
�������%�	
�8�
������


����
������
���������
/%��
�8���
�����
������
�������	�
�������	%�
����"
�����������
� ����
�'�"��
���*�����������
��8���
��
��������


"��
���*�����������
����
/%��
����*
�����
�������	�
�D����*
�����
�������	�
�������
��%��%��������������������������8

�5����
7��
/%��
�
�����������	������1��()���1��������
������
��
�7

E 0�����
������
�������	�


E C����*
�����
�������	�
�

E 1��()���1��������
��

���
�����
 �������	�
����
�  ��
��!	��� F%������

�()��� �!

�()���

��1�?"#� 0

�()��� G ��1�?"#, 0

���
�����
  ��
��!	��� F%������

 4 �� 0

 ��
��!	��� �
���#�

��1�@" ��������
�����
��
����8

:���
��$���
�����$�	�


�()�$!00

���*
�$���
�����$�	�


�()�$!0.



1

����������������


��
�����6����������7���	
��
�����$�	�
�

■ (���!������	�4��������
�

E  ����������	9
��'��
��%�
�
����"
�
����
�"������
��()����!��
�����������������
8���
�����������	9
�����B
����
/%��������
�����
�
��

�����
���	
�����
������
��
�������
�
��������
���"�������
��8

E  :����%���
�������	9
��'�������"��������
���
�
��	
��"���
�����������	9
��8���
������%���
�������	9
�����B
�"����
�
����
��"�
��

��
��()����!��������
���
�
�*
�������������
5�

�
���������������
���*��%
����0@@@�<�
������������������
����
*
���������=8

��
�� ��
������������������
��()��� G�������
��()��� �����
��������������
��()��� !�������
������������������
��()���; �!���
�

�������������
��()���+ �!

6������
�����
���������%����
��������%������
�����������
��������������8�:��
���"����%����������#���
���
��%��	����


����������������������
����
��
���*
���
�����������8

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�

<G��%
��������
���
�
�7�"�
��%�����

��
��(H��0��
���&���=

���������

�	9
���I(

<���8��
���

�����	9
��7�

���/%
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

����

�������


:- �()��� �! 08-�������8

<@8@.����

���8=

����(""? .C���

�()���+00�!

�()���2 �!

(�������8 �()��� �! 08-�������8

<@8@0����

���8=

����("�?

:( �()��� �! @8H�������8

<@8@0����

���8=

����(�"? 0@���

.�������8D�

�����������


�
�

�()��� �! ����(��?

:0-D�"����

�
��D���
���

����
5����

�������������������

�����

�()��� �! 0@�������8

<@8@0����

���8=

����("0? .C���

;
�
����

�%����


:- �()��� �! 08@�������8

<@8@0����

���8=

����(��// .C���

�()���+00�!

�()���2 �!

:(D�������

	�
������%���

��
��
��
��

��*
����
�*�
"����*
��

������������
����(H�

�C

�()��� �! ����(��//� .C���

:(D�����

�
�
������

���%�
�

�
�������	9
���

�()��� �! @8C�������8

<@8@0����

���8=

����(��//� 0@���

�()���+00�!

: long-distance mode : Standard mode : High-speed mode

Free-cut

Free-cut

M4 screw

1,660
(4,000)
1,330
(3,200)490 (1,200)

150

120

75

430
350

120

Free-cut

3-mm dia.

1,660
1,330

490

Free-cut

M3 screw

500

180
440

Free-cut

2-mm dia.

500

180
440

Free-cut

M14 screw
9,800

20,000 *1

20,000 *1

Free-cut

M4 screw

950
(4,000) *2
760
(4,000) *2280 (2,100)

100 (700)

75 (550)

45 (350)

250

70

200

Free-cut

M3 screw
850

680

250

Free-cut

M3 screw

250
220

90

25
20
10



J

����������������

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�

<G��%
��������
���
�
�7�"�
��

%�������
��(H��0��
���&���=

���������

�	9
���I(

<���8��
���

�����	9
��7�

���/%
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

�����

��	
�

.�������8D�

�����
�
������

���%�
�

�	9
���

�()��� �! @8C�������8

<@8@0����

���8=

����(�� 0@���

08.����

���8D�"����

��

*


�()��� �! 08@�������8

<@8@0����

���8=

����(��//%

����(��//%#

.C���

�()���+00�!

@8H����

���8D�"����

��

*


�()��� �! @8C�������8

<@8@0����

���8=

����(��//4

����(��//4#

0@���

��
5�	�
�

<�
������

	�
�#���=

<�0��-=

6�
�������

��%������

�����*����

�
������

<�0��-=

�()��� �! 08@�������8

<@8@0����

���8=

����("" -���

�()��� �! @8C�������8

<@8@0����

���8=

����(�"

�()��� �! ����(��%

:-����
"

<�0=

�()��� �! 08@�������8

<@8@0���=

����(""5 0���

(�������8

<�0=

�()��� �! ����("�5

:(����
"D�

�����

����
�
��

<�0=

�()��� �! @8C�������8

<@8@0���=

����(�"5

.�������8D�

�����

����
�
��

<�0=

�()��� �! ����(��5

���
�

*�
"

����

�������
D�

����
���*�

���

�()��� �! 08@�������8

<@8@0����

���8=

����("#? .C���

�()���+00�!

�()���2 �!

����
���*�

����

��
5�	�
<�0=

�()��� �! ����("#?5 0���

�%���	�
�����

�
�
������

���%�
�

�	9
���

�()��� �! @8C�������8

<@8@0����

���8=

����(�# 0@���

�%���	�
�����

�
�
������

���%�
�

�	9
���D�����������
�

�
��

�()��� �! ����(�#5 0���

���
"�

��%������

���
�������

�
�������������


�()��� �! -8@�������8

<@8@0����

���8=

����("# .C���

�()���+00�!

�()���2 �!

Free-cut

2-mm dia.

250
220

90

Free-cut

M4 screw

90 mm (40 mm) 1.2-mm dia.

( ): E32-TC200B4

950

760

280

100

75

45

Free-cut

M3 screw

90 mm (40 mm)

( ): E32-TC200F4

0.9-mm dia. 250

220
90

Free-cut

M4 screw 680
(3,600)

250 (1,300)

850
(4,000) *2

M3 screw
220
200

80

1.5-mm dia.

220

200

80

Free-cut

M4 screw

670
(4,000) *2

530
(3,700)200 (1,400)

Free-cut

3-mm dia.

670
(4,000) *2

530
(3,700)200 (1,400)

Free-cut

M3 screw
150
130

50

Free-cut

2-mm dia.

150
130

50

Free-cut
3-mm dia. 570

170
460

50

25
40

150

120

40

Free-cut 3-mm dia. 270

210
90

Free-cut 1-mm dia. 150

130
55

Free-cut 1-mm dia. 60

25

50

Free-cut 4,000

3,400

1,250

320

260

160

1,120
900

330



?

����������������

$�
���

�����
����

����

�
�������*�


�
��I-D�

"����������

��
�����������������


�*�����
����

<��
���������	�
���

�
��
���%�
7�K(@ $����

J@ $=

�()��� �! -8@�������8

<@8@0����

���8=

����("�4 -@���

�
�������*�


�
��I-D�

���
�*�
"D�

"������������
�������

����������
�*�����

�
����

<��
���������	�
���

�
��
���%�
7�K(@ $����

J@ $=

�()��� �! (8@�������8

<@8@0����

���8=

����("#4

�
�����I-D�"����������

��
�����������������


�*�����
����

<��
���������	�
���

�
��
���%�
7�K-@ $����

.@@ $=

�()��� �! 08@�������8

<@8@0����

���8=

����(,"4 0@���

2
���

�
�������

�
������.@@ $D���
5�	�
�

<�0@=D���	
����
����

���
����7��
�����I-�

<��
���������	�
���

�
��
���%�
7�K-@ $����

.@@ $=

�()��� �! 08@�������8

<@8@0����

���8=

����(,"5 0@���

�
������

0C@ $�ICD�

��	
����
����

���
����7���%����
����

<��
���������	�
���

�
��
���%�
7�K-@ $����

0C@ $=

�()��� �! 08C�������8

<@8@0����

���8=

����($" (C���

�
������(@@ $�I1��

"������������%	
D������

�
������������
����D�

��	
����
�������
����7�

������
�����

��

<��
���������	�
���

�
��
���%�
7�K-@ $����

(@@ $=

�()��� �! 08@�������8

<@8@0����

���8=

����(." .C���

���
�*�
"D�

�
������

0C@ $�ICD�

�%���	�
������
�
������

���%�
��
������

�	9
���D�

��	
����
�������
����7�

��%����
����<��
�������

��	�
����
��
���%�
7�

K-@ $����0C@ $=

�()��� �! ����($# (C���

�
������.@@ $�I1D�

������
�D���	
����
����

���
����7�

������
�����

�

�()��� �! 08J�������8

<@8@0����

���8=

����(,#3 .C���

������
��

���

�%���	�
�����

�������

��

�
�
�����D����

���������5�����9%���

�
���

�
/%��
�D�
�������

��%��

�()��� �! -8@�������8

<.8@����

���8=

����&"# .C���

�()���+00�!

�()���2 �!

!����"�

*������

��
��

�%���	�
�����

�
�
������

"��
��

�()��� �! 08J�������8

<@8@0����

���8=

����(��3 0@���

���
�*�
"D�

�%���	�
�����

�
�
������

"��
��

�()��� �! .8@�������8

<@8@0����

���8=

����(�#3

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�

<G��%
��������
���
�
�7�"�
��

%�������
��(H��0��
���&���=

���������

�	9
���I(

<���8��
���

�����	9
��7�

���/%
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

Free-cut

5-mm dia.

3,800

3,000

1,100

Free-cut 5-mm dia. 500

150
400

6-mm dia.

880

260
700

M4 screw 280

100

350

Free-cut

M4 screw

950

760

280

M4 screw 450
(3,400)

170 (1,300)

570
(4,000) *2

Free-cut 2-mm dia. 290

230
80

3-mm dia.
1,700

1,300

500

Free-cut

10
10
10

Free-cut

3-mm dia.

2,300

1,900

700

Free-cut
3.5 x 3-mm dia.

1,700

1,300

500



H

����������������

I
0
��
��(.��0J������"��������
���
�������������
�	
��%�
�����

����������	
���
��������0@��8

I
.
��
�
����
�������"�������
���
�������������
�	
��%�
���
���

����������	
���
��������.��8

I
(
6������
��*��%
������������������
8

I
-
�
�����������
����
�
������
���#������
��%�����$�����������

��
�:���%���%�����$�
������$�������������
�����%����
��
���8

I
C
����������%�%����
��������%�
���
�����%����"���������
��
���

�%�
�����
����K-@ $����0(@ $8

I
1
6������
����
��
����
���������
��
���%�
������
���	
�����8

I
J
��
�
����%�
����
��������
�������������
����(@@���8�<���%�
��

������
�����
�
������
�������	9
������
������
�����������
8=

I
?
��
�
����%�
����
���
������"������
�
��������������	�
����
����

�
��������
��������������������
����
*
�����0�@@@8�<���%�
��������
�

����
�
������
�������	9
������
������
�����������
8=

��
�� "9 ��
���B
��������������
�������	9
��������
����
������
�

��	
�����
�����
�
��<�
�������
�
���������
���"����

�
��=8

�9 ��
�*��%
�������
������%���
�������	9
���������
�

����%���	
������
����������
�����
��	����
��"�
�
�

��
����
�����
��
������
�
�*
�������"�
����
��������

�����
����
*
��
5�

���0�@@@�<�
������������������
��

�
*
���������=8�

�9 ;�
��
����

����"����"�����������������������������
������


��	�
��	���������
�
���*
����
%�������
5�	�
���	
��

���
���<�
������	�
�	
����������%�7�0���=8��
�
�����

��
������"�������%��������8

��
��

�
�����

:%��������� �
�
������

<-��
��=

�()��� �! .8@�������8

<@8@0����

���8=

������" .C���

�
�
���������

(@����"��
�

��
�

�()��� �! <@8(����

���8=�IJ

����(".� 0@���

�
�
���������

(@����"��
�

��
�����
5��

	�
�

�()��� �! ����(".�5 0���

���
�*�
"D�

�%���	�
�����

��������

������"���������
������

������
���

�()��� �! <@8.����

���8=�IJ

����(".A 0@���

���
�*�
"D�

�%���	�
�����

��������

������"���������
������

������
�������
5�	�


�()��� �! ����(".A5 0���

�%���	�
�����

�
�
������

�*
����0@�

�����
�D����������

����


�()��� �! <@81����

���8=�I?

����(". .C���

�%���	�
�����

�
�
������

���%�
�

�
�������	9
���������

"��
���
�D��
��

����

����
�����7�6�$1@C.H�

63C@

�()��� �! <@8.����

���8=�IJ

����(". 0@���

�%���	�
�����

�
�
������

���%�
�

�
�������	9
���������

"��
���
�D��
��

����

����
�����7�6�$1@C.H�

63C@�

��
5�	�


�()��� �! ����(". 5 0���

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�

<G��%
��������
���
�
�7�"�
��

%�������
��(H��0��
���&���=

���������

�	9
���I(

<���8��
���

�����	9
��7�

���/%
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

M3 screw

700

250
610

Free-cut

30 mm

2,300

1,800

660

Free-cut

30 mm

2,300

1,800

660

Free-cut

11 mm

1,300

1,000

280

Free-cut

11 mm

980

750

210

Free-cut

10 mm

3,500

2,800

1,000

Free-cut

11 mm

1,400

1,100

420

Free-cut

11 mm

1,050

840

320

Conventional Fiber Flexible Fiber
Conventional fiber uses just one core and 
one cladding section. Bending the fiber beyond 
the recommended radius may break it or reduce 
the light intensity.

Flexible fiber contains multiple independent cores  
all surrounded by cladding. The fiber can be bent 
without breaking or reducing the light intensity.

Core

Cladding

Flexible fiber models are indicated by an 
"R" at the end of the model number.  
Flexible fiber contains multiple cores.  
These cores are all surrounded by cladding,  
giving a minimum bending radius of 1 mm. 
The fiber can be bent at right angles without  
affecting the light intensity. Handle it just like  
any other cable.  



0@

����������������

■ ����!���4�����;

�-�������

E  ����������	9
��'��
��%�
�
����"
�
����
�"�����()����!��
��������������:��
8

E  :����%���
�������	9
��'�������"��������
���
�
��	
��"���
�����������	9
��8���
�*��%
�������
������%���
�������	9
���"
�


�	����
��������������
�"�
�
���
������
����	9
���<�����"��
=�����	
��
��
��"������
�����%�
���	
��&���8

E ��
��()����!�����������%
�����
�
�*
����
������
��
���*
�������"�
���������
�������
���5��%���
�����*�����
�����8�6����������


�
����
��������
����� �"���������
�������"�������"����%���	9
����
������'8

��
�� ��
������������������
��()��� G������()��� �����
��������������
��()��� �!��������
���
������������������
��()���; �!�

��
��������������
��()���+ �!�8

6������
�����
���������%����
��������%������
�����������
��������������8�:��
���"����%����������#���
���
��%��	����


����������������������
����
��
���*
���
�����������8

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�I0 ���������

�	9
���<���8�

�
������

�	9
���I.7�

;����"��
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

�����

�������


:1 �()��� �! C@@ C@@�

<@8@0����

���8=

�����""? .C���

�()���+00�!

<�

����
=

0@@ 0@@

<@80����

���8=

�()���2 �! .@@ .@@�

<@8@0����

���8=

(����

���8D�

������

����
�
�

�()��� �! (@@ (@@�

<@8@0����

���8=

�����"�

:- �()��� �! .@@ .@@�

<@8@0����

���8=

������"? 0@���

(����

���8D�

������

����
�
�

�()��� �! �������?

;
�
����

�%����


:1 �()��� �! -@@ -@@�

<@8@0����

���8=

�������// .C���

�()���+00�!

<�

����
=

0@@ 0@@

<@80����

���8=

�()���2 �! 0@@ 0@@

<@8@0����

���8=

:(D�������

����
�
�

�()��� �! 0@@ 0@@�

<@8@0����

���8=

�������//� 0@���

�()���+00�!

<�

����
=

.C .C

<@8.����

���8=

�����

��	
�

.8C����

���8D�"����

��

*


�()��� �! -@@ -@@�

<@8@0����

���8=

�������//%

�������//%#

.C���

�()���+00�! 0@@ 0@@

<@80����

���8=

08.����

���8D�"����

��

*


�()��� �!

<�

����
=

0@@ 0@@�

<@8@0����

���8=

�������//4

�������//4#

0@���

Free-cut

: Long-distance mode : Standard mode : High-speed mode

Free-cut

M6 screw

500

400
150

44

35

22

100

30

130

Free-cut

3-mm dia.
230

300

100

Free-cut

M4 screw

160

45
130

Free-cut

3-mm dia.

160

45
130

Free-cut

M6 screw

400
300

100

32

25

16

75

25

100

Free-cut

M3 screw
30

100

80

4

8

6

Free-cut

M6 screw
( ): E32-DC200B4

90 mm (40 mm)

2.5-mm dia.

400
300

100

32
25

16

Free-cut

M3 screw
( ): E32-DC200F4

90 mm (40 mm)

1.2-mm dia. 30

100

80

��
�� ������������������#��������
��"����	�%
�������������%��
������������%���	9
�����B
�������*��
�8



00

����������������

�������	
� @8?����

���8D�����

�
�
������

���%�
��	9
���

�()��� �! .C .C�

<@8@0����

���8=

������� -���

@8C�������8D�����

�
�
���������%�
�

�	9
���

�()��� �! �������"

��
5�	�
�

<�
������

	�
�#���=

<�0��-=

6�
�������

��%���

�������

��*�����
�������

<�0��-=

�()��� �! (@@ (@@�

<@8@0����

���8=

�����""5 0���

�()��� �! �����"�5

�()��� �! C@ C@�

<@8@0����

���8=

������"5

�()��� �! �������5

�()��� �! (@@ (@@�

<@8@0����

���8=

�����"" -���

�()��� �! C@ C@�

<@8@0����

���8=

������"

�()��� �! 0@@ 0@@�

<@8@0����

���8=

������"%

�()��� �! C@ C@�

<@8@0����

���8=

�������%

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�I0 ���������

�	9
���<���8�

�
������

�	9
���I.7�

;����"��
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

Free-cut

3-mm dia.

0.8-mm dia. 21

16
6

2-mm dia.

0.5-mm dia. 4

3

1

Free-cut

M6 screw

220

170

80

3-mm dia.

220
170

80

M3 screw 30

10

40

3-mm dia. 30
10

40

M6 screw

220

170

80

M3 screw 30

10

40

M4 screw

25

90
70

1.5-mm dia. 30

10

40

Free-cut

Free-cut



0.

����������������

$��5���� :1

���5���D�

�������
�

�������

�����������

�()��� �! C@@ C@@�

<@8@0����

���8=

�������// .C���

�()���+00�! 0@@ 0@@�

<@80����

���8=

�()���2 �! 0@@ 0@@�

<@8@0����

���8=

(�������8D�

������

����
�
�D�

���5���D��������
���

�����

�����������

�()��� �! (@@ (@@�

<@8@0����

���8=

�������?

:(

���5���D�

�������
���

�����

�����������D�3�����

	�
������%���������

������
���<�(H��(��

C���(+���($=

�()��� �! 0@@ 0@@�

<@8@0����

���8=

������"

:(����5���D�

�������
�������

�����������D�3�����

	�
������%���������

������
���<�(H��(��

C���(+���($=

�()��� �! C@ C@�

<@8@0����

���8=

�����#"

.�������8����5���D�

�������
�������

�����������D�3�����

	�
������%���������

������
��

<�(H��(�=

�()��� �! �����#�

.�������8����5���D�

�������
�������

�����������D�3�����

	�
������%���������

������
��

<�(H��(�=

�()��� �! 0@@ 0@@�

<@8@0����

���8=

�������

���
�

*�
"�

1����

���8D�����

�������


�()��� �! .@@ .@@�

<@8@0����

���8=

�����"#? .C���

�()���2 �! C@ C@�

<@8@0����

���8=

1����

���8D���
5��

	�


�()��� �! 0@@ 0@@�

<@8@0����

���8=

�����"#?5 0���

.����

���8D�

������

����
�
������
�

��*���D���
5�	�


�()��� �! C@ C@�

<@8@0����

���8=

������# 0@���

�()��� �! ������#5 0���

$�
���

�����
����

����

�
�����

��*
�
��

I-D�"����

���������
�������

����������
�*�����

�
����<��
�������

��	�
����
��
���

�%�
7�K(@ $����J@ $=

�()��� �! .@@ .@@�

<@8@0����

���8=

�����"�4 -@���

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�I0 ���������

�	9
���<���8�

�
������

�	9
���I.7�

;����"��
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

Free-cut

M6 screw

400
300

100

32

25
16

75

25

100

Free-cut

3-mm dia.

200

150
50

Free-cut

M3 screw 100

75
25

See Spot Diameter
•  0.5-mm dia.
•  4.0-mm dia. max.

M3 screw

45
35

10

See Spot Diameter

•   0.1-mm dia.
•   0.2-mm dia.
•   4.0-mm dia. max.

2-mm dia.

45
35

10

See Spot Diameter
•   Adjustable in the 

range 0.1 to 
0.6-mm dia.

2-mm dia.

100
75

25

See Spot Diameter

•   Adjustable in the 
range 0.5 to 
1.0-mm dia.

Free-cut 6-mm dia. 150

110

50

35

25

10

Free-cut 6-mm dia. 60

45

25

Free-cut 2-mm dia. 40

30

10

2-mm dia.
25

15

6

Free-cut

6-mm dia.

120
95

45



0(

����������������

2
���

�
�������

�
������

0C@ $�I(D�

��	
��

��
�������
����7���%�

����
����<��
�������

��	�
����
��
���

�%�
7�K-@ $����

0C@ $=

�()��� �! .@@ .@@�

<@8@0����

���8=

�����$" (C���

�
������(@@ $�ICD�

��	
����
�������
�

����7�������
�����

��

<��
���������	�
���

�
��
���%�
7�

K-@ $����(@@ $=

�()��� �! �����." .C���

�
������-@@ $�ICD�

��	
����
�������
�

����7�������
�����

��

<��
���������	�
���

�
��
���%�
7�

K-@ $����-@@ $=

�()��� �! 0@@ 0@@�

<@8@0����

���8=

�����0�

��
��

�
�����

���
�

*�
"D�

�
�
������

�*
��"��
���
��

�()��� �! (@@ (@@�

<@8@0����

���8=

������. " .C���

�
����
�

��
���*


���������


����	9
���

�
�
�����D

������B
�

�()��� �! (C�������8�

<@80����

���8=

����5�"�B�

��1�5�������-�


���:��-�!���=

0@���

���������


����	9
���

�
�
������

<��
���������	�
���

�
��
���%�
7�K.C $�

���CC $=D��
��

����

����
�����7�

6�$1@C.H�6311D�

������B
�

�()��� �! (C�������8�

<@8.����

���8=

����5".�B�

��1�5"������-�


���:��-�!���=

.C���

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�I0 ���������

�	9
���<���8�

�
������

�	9
���I.7�

;����"��
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

Free-cut

M6 screw

300
230

100

M6 screw

120
90

30

M4 screw
1.25-mm dia.

80
60

20

Free-cut 200

150

50

Free-cut

M6 screw Reflector
E39-R3

10 to 250

10 to 250

10 to 250

Free-cut

Reflector
E39-R1 150 to 1,500



0-

����������������

I
0
�
�������������
��������
��*��%
������"���
����
�8

I
.
6������
��*��%
������������������
8

I
(
����������%�%����
��������%�
���
�����%����"���������
��
���%�
�����
����K-@ $����0(@ $8

I
-
�
�����������
����
�
������
���#������
��%�����$�������������
�:���%���%�����$�
������$�������������
�����%����
��
���8

I
C
6������
����
��
����
���������
��
���%�
������
���	
�����8

��
�� ��
�*��%
�������
������%���
�������	9
����������
�����
��	����
��������������
�"�
�
���
������
����	9
�������	
��
��
��"������
�

�
��
���*
���	
��&���8

��
���
�������
���5��%���
�����*�����
������������
����
������
��
���*
�������������
�������������������%
����	
��
�
�*
�8�6���%������
��%�
�

 �"���������
�������"�������"����%���	9
����
������'8

■ 3
�
����	�
��

&�
�"��������������
���%�����<���
���
�����
��=

�����
��

�
��
���*


�%���	�
�

����

���������

�����������������

�()��� �! 0@@ 0@@

�����������

"�����
��
��

������������

����?$.�"

����?$.��

(C���

�
�
����

"��
���

����������

����
�
��
�����

�
����D�<��
�������

��	�
����
��
���

�%�
7�K-@ $����

0@C $=D��
��

����

����
�����7�

6�$1@C.H�63C@

�()��� �! .C .C�

<@8@0����

���8=

����?�#? 0@���

�()��� �! ����?�$?

�
�
����

"��
���

����������

����
�
��
�����

�
����D��
��

����

����
�����7�

6�$1@C.H�63C@

�()��� �! ����?�$ .C���

�()��� �! ����?�$�

��%���

�
*
��

�
�
�����

��%��������������
7�

%�	
���	�
��
������

��0C@�����(C@����

<�"�����
�=

�()��� �! ��� 3%�
�"��
��

���.C $

�����,�4"

�����,�4�

-@���

�%	
�

��%������

���


�()��� �! ��� ��%�� ����?�$( 0@���

��������

����

�
��%�
� ���
�����
 �������	�
�

�������
��&���

�
�������������
�<��=�I0 ���������

�	9
���<���8�

�
������

�	9
���I.7�

;����"��
=

 ��
��!	��� 3
�����

��	�
�

	
������

����%�

Free-cut

4 to 12

Free-cut 4±2
4±2
4±2

7.2±1.8

7.2±1.8

7.2±1.8

Free-cut

3.3
3.3

3.3

3.3
3.3

3.3

Free-cut

�������
��%��� ����%�
���	
� ������������
�� ���������
�
�

�()��� �! �(.�$(0 �(H��(��C

�(H��(+

@8C�������

�(H��($ -8@�������8���58

�(.�$-0 �(H��(��C @80�������8

�(H��(+ @8.�������8

�(H��($ -8@����������5

�(.�$-. �(H��(� ��9%���	�
������
�����
�@80����

���@81�������8

�(.��(. �(H��(� ��9%���	�
������
�����
�@8C����

���08@�������8



0C

����������������

��
�����������7��������
��&����

■ �	
����������
��+�
��������

6�
� ���������

���
��

��������%��%��

���
��

:��#��
�
���������
�� 6�����
�

���
��

���
��

�
�������

���
��

�"�����
�
��
���

�%��%�����
��



%
�
�
%
�

�
�
�



!3! �()���00�! �()���.0�! �()���+00�! �()���;00�! �()���200�! �()���00G �()���00��

3!3 �()���-0�! �()���C0�! �()���+-0�! �()���;-0�! �()���2-0�! �()���-0G �()���-0��

��������%��
�

<"�*
�
����=

�
������<11@���= +�%
�����

<-J@���=

;�

������

<C.C���=

6�����
������

<?J@���=

�
������<11@���=

�%�����*�����
 0.����.-�G�$� 0@L�������
�<���=�0@L���58

3
�
"



�

�
�
�
�
%
�

�
�
��

�

!����� H1@������58�

<�%��
�������%������7�-@������58������"
���%�����*�����
����.-�G�$=

������� J.@������58�

<�%��
�������%������7�(@������58������"
���%�����*�����
����.-�G�$=

������������

������������

1@@������58�

<�%��
�������%������7�.C������58������"
���%�����*�����
����.-�G�$=

$
�
�
�
�
�
�

�
%
�
�
%
�


!,
��� !3!,3!3�<�
�
����������
�=���
������
����D�������%��
��7�C@������58D��
���%���*�����
7�0�G���58D

������
!,���#�
!����
��
�
����

������� ��� �����0����C�

G�$��

0@�# ����8

���

$���%�������
����� �
*
��
������������%��%������������%�����%�%������
��
�
��
���
*
������<�%�����
������%�����0@�&����=

�


�
�
�
�
�



�
��




2������

� .C@� ��������
������������
�
� @8C����������
���

����������
�
�

�������� 0����������
������������
�
� .�����������
�������

�����
�
�

�����

�������


-����������
������������
�
� J����������
�������

�����
�
�

�
�����*�����
����� �
�������������%����
����

�
%
�
�
�
��

�
�

���
��

�%������


����
�������
�7�@����.@@�����0����.@����<�
�����0��������
�
���=D�.@����.@@����<�
�����C��������
�
���=

�%��������

��"
�

��������

<�3$=

��	
���������%��
����������

�������

��� ��	
���������%��
������������������

M
����
�
� ������������	
��
�
�����B
���"�
���
/%��
��<�
����*
�*��%
������	
��������
�=8

6��������
�
� �
�����������	
��
�%��
������
��%��������
/%��
�8

:�������

���%�

��� &��
��������"
��

�����������	
��
��

����
/%��
������


*
���0@@���������

*��%
�8

���

������� 
�
�����������������<�����
=��J��
��
����������������
����
*
����������<�
�=��J��
��
����������������
����
*
���
��
����
�

��������<�
�=�����
����������
5�
��������.������������������	���<��

�������
�=��J��
��
��������������
��������������<�
�=

�������������� !�����,�
�#�����,	��������������������
�
���	�


�������

���
�������

!�����,�
*
��
����������
�
���	�



��������5��

��9%���
��


��������5�����9%���
��������	�
�<����������%������=

��	�
��

���%���������

<�
�
�*
�����
=

6�����
��
�������7�0@�@@@��%5���58

�%������7�.@�@@@��%5���58

�
�

	
�


�
�

�


�

�


�
�
�
%
�

 
�
������ 0����(��������
��7�K.C $����CC $�<�0( �����0(0 �=

-����00��������
��7�K.C $����C@ $�<�0( �����0.. �=

0.����01��������
��7�K.C $����-C $�<�0( �����00( �=

<"��������������������
�������=

������
 �K(@ $����J@ $��<�.. �����0C? �=�"��������������������
�������

��	�
����%������ 
�
�����������������
7�(CL����?CL�<"�����������
�������=

6��%������

�
�������


.@�: ����8�<���C@@�G�$=

��
�
������

���
�����

<�
���%�����=

0�@@@�G�$����C@,1@�2B�����0����%�




01

����������������

■ �	
����������
��+�
�������-
���

��
�����������������������
��&�����"����$���
��������
����������������
�������
��������
���%�����"����.��
�
����	�
��

��
�� ��
���
�
���������
���������"��
���
�����������
������C@@�G�$����C@,1@�2B�����0����%�
8

■ ��1�(�"�3
�-���-�
����

G�	������

�
�������
�

<�
���%�����=

0@����CC�2B�"������08C������%	�
�������%�
�����.�����
�������)��N�����M����
������

����#��
�������
�

<�
���%�����=

C@@��,�
.
������(����
��
�������)��N�����M����
������

������%�
������� 6�$�1@C.H�63C@�<"����3���
���*
�$�*
��������
�= 6�$�1@C.H�

6311�<"���

3���
���*
�

$�*
��

������
�=

6�$�1@C.H�63C@�

<"���

3���
���*
�$�*
��

������
�=

$���
������

�
����

3�
�"��
�������������	�
��
����7�.���<18C1���8=

�
�����<���#
�= �����58�0@@�� �����58�00@�� �����58�0@@��

:
�
�


�
��

�

$��
 3���	%���
�
��
�
��������
�<3+�=

$�*
� 3������	����
 3���
��
��%��

���


3������	����


6�
� ���������

���
��

������

�%��%�����
��

:��#��
�
���������
�� 6�����
�

���
��

���
���
��������

���
���<�

����
8=

�"�����
�
��
���

�%��%�����
��


%��%�

���


!3! �()���1<3= �()���J �()���+1 �()���;1 �()���21 �()���0-G �()���1��

3!3 �()���? �()���H �()���+? �()���;? �()���2? �()���--G �()���?��

$���
�����

�
����

�������������
�������	�
 :?�����
���� ��������

����
�������	�


�
�����<���#
�= �����58�CC�� �����58�1C�� �����58�CC��

6�
� �(H��:0

�%�����*�����
�<�

����
�0= 0.����.-�G�$�O0@L�������
�<���=�0@L���58

�
�������"
���%���� 00����.(�G�$�<�%�����*�����
��0�G�$=

$%��
�������%������ -@������58�P��
������%��
�������%�������<�����7�0@@������58=

�
�����
����
 08.������58

!%�	
��������%�� 0������

6��%��������� !3!,3!3�����*�����
����%��<$����������������������=���"������
�
���	�


6��%����
�������������%������ !8
8,!8$8���"������
�
���	�


6��������� 6��%�����������������<�����
=

��	�
��

�
��
���%�


<�

����
�.=


�
������� 0����(�%����7��.CQ$����CCQ$�<�0(Q�����0(0Q�=

-����?�%����7��.CQ$����-CQ$�<�0(Q�����00(Q�=

H����01�%����7��.CQ$����-@Q$�<�0(Q�����0@-Q�=

!���������������
�������

������
 �(@Q$����J@Q$�<�..Q�����0C?Q�=

6�
� ���������

���
��

��������%��%��

���
��

:��#��
�
���������
�� 6�����
�

���
��

���
��

�
�������

���
��

�"�����
�
��
���

�%��%�����
��



%
�
�
%
�

�
�
�



!3! �()���00�! �()���.0�! �()���+00�! �()���;00�! �()���200�! �()���00G �()���00��

3!3 �()���-0�! �()���C0�! �()���+-0�! �()���;-0�! �()���2-0�! �()���-0G �()���-0��



0J

����������������

■ �����-
�����������������*�����	
����������
�

��
�� "9 ��
���
����
��*��%
�������
����������
�������
��
������������
����������
�������
�	
�"

����
�����
�����������
��������
��%�����

������
�$���
������������
���
���	����������
�����8������
����������%�
���
�����%������
�������
������
���	�
8

�9 ��
���
����
��*��%
��
��
�
������
��%�	
��������
��������������
��������
��%�����������
���9��
�������
����8

■ �,������-
���

■ ��������������

6�
� �()�$!00,.0,.. �()�$!0. �()�$!@.

���
���%��
�� .8C��

���
��*�����
 C@�G

$��������
�������
 .@�� ���58�<.@��G�$���58��0@@������58=�<�

����
�08=

!�8�������
������ C@����
��<�

����
�.8=

:��
���� 2�%���� 3���	%���
�
��
�
��������
�<3+�=

$������� 3��������	���B
,���������
�����#
�

�
�����<���#
�= �����58�CC�� �����58�.C��

6�
� )�(��:- � ��

$%��
��������� 0�

G�����
������� 0.C�G�$

$��������
�������
 -@�� ���58�.@��G�$���58��0@@������58

6��%��������
�������
 0@@@�� ���58�C@@��G�$

��
�
���������
���� 0@@@�G�$�����0����%�
���
�#��
��%��
��7�0������58

������%�
������� 6�$�631J

6��
���������
����
 .@@����
�������%�

�
����
����
���� C@�!�<C80�#��,0C��
�8=

��	�
�����
��������
��
���%�
 �.CQ$����J@Q$�<�0(Q�����0C?Q�=

6�
� �()�:$00

�%�����*�����
 $����
��"�����$������
�

$���
�������
���� $���
��
��*��������
�

�
�����<���#
�= �����58�C?@���<$�����
�����7�0.@��=



0?

����������������


%��%��$���%���

�
�
�������
�
��������
������"������	�
��������
��������
��%�����8


%��%� :��
� :��
�

�
�
����

������������ ����
����

�%��%��

��������

���


%��%������%��

!3! �()���00�!

�()���+00�!

�()���;00�!

�()���200�!

�()���00G

�()���1

�()���13

�()���+1

�()���;1

�()���21

�()���0-G

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!

�()���.0�!

�()���J

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!

�()���00��

�()���1��

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

Brown

Black

Blue

Control output

Load

Operation indicator (orange)

12 to 
24 VDC

Photo-
electric 
Sensor
main
circuit

Display
1

4

3

$���
�����3���������
�
��

��
�� 3���.��������%�
�8

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

Brown

Black

Orange

Blue

Control output

Load

Load

Operation indicator (orange)

12 to 
24 VDC

Photo-
electric 
Sensor
main
circuit

Monitor
output
1 to 5 V

47Ω

Display

Note:   Load resistance: 10 kΩ min.

(See note.)

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

CH1/
CH2 Brown

Orange

Blue

Control

Operation 
indicator (orange)

Control output 2

Operation 
indicator
(orange)

LoadPhoto-
electric
Sensor
main
circuit 12 to

24 VDC

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between brown and black)

CH1/
CH2



0H

����������������

��
�� ������()��� ������
��������������
��0�����%��%��"�
���
��������
���
��������
������8

�6;2��
!7 
!�"�
����
������
����
*
�����	
�"

����
����
����������������
���0�����.8

���R�
!7 
���"�
����
������
����
*
�����	
�"

����
����
����������������
���0�����.8�<$����
��.������"����
��8=

3!3 �()���-0�!

�()���+-0�!

�()���;-0�!

�()���2-0�!

�()���-0G

�()���?

�()���+?

�()���;?

�()���2?

�()���--G

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!

�()���C0�!

�()���H

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!

�()���-0��

�()���?��

�6;2��


!

<�,
!=

������
!

���R�


!

<�,
!=

���#�
!


%��%� :��
� :��
�

�
�
����

������������ ����
����

�%��%��

��������

���


%��%������%��

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

Load

Brown

Black

Blue

Control output
12 to 
24 VDC

Operation indicator (orange)

Photo-
electric 
Sensor
main
circuit

Display
1

4

3

$���
�����3���������
�
��

��
�� 3���.��������%�
�8

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

Load

Load

Brown

Black

Orange
Blue

Control output
12 to 
24 VDC

Operation indicator (orange)

Photo-
electric 
Sensor
main
circuit

Display

Monitor output
1 to 5 V47Ω

(see note)

Note:   Load resistance: 10 kΩ min.

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

CH1/
CH2 Brown

Black

Orange

Blue

Control
output 1

Operation indicator (orange)

Control
output 2

Operation 
indicator
(orange)

Photo-
electric
Sensor
main
circuit Load

Load

12 to
24 VDC

ON

OFF

ON

OFF

Incident light

No incident light

Operation indicator 
(orange)

Output
transistor

Load (relay) Operate

Release
(Between blue and black)

CH1/
CH2



.@

����������������

$���
������<�
�����6,
�$���
�����=

■ 3�����������

�3�4��#�"�#/���6

�3�4��#�"�#/$��6

�3�4��#���#/���6

�3�4��#���#/$��

■ ��!���������

�3����#�"�#/��5

��
�� 3���.��������%�
�8

Terminal number
Color of cable conductors

Brown
White
Blue
Black

24

13

1
2
3
4

$������������� $��������

��	�
�����

�%�����

$���
������

�����%�	
�

�����������

�$ +��"� 0 3�"
���%�����

<PG=

����
 . ���

+�%
 ( 3�"
���%����

<@�G=

+���# - 
%��%�



.0

����������������

�����

����������<�������=

■ ������ ��7������ )7������ (�

 ��������;
���
����5�����

�����58��
�����*���8�<&�
��������������5�����9%���
������������������8=

;
���
����5�����

���������������
�������	9
��������58��
�����*���8�<&�
�������
������������������
��	9
��������
����8=

�C-����&����5�
���*�9����
��-��

���������������
�������	9
��8������58��
�����*���8

E32-TC200
(Through-beam)

E32-T11R
(Through-beam)

E32-T11
(Through-beam)

D
is

ta
nc

e 
Y

 (
m

m
)

speed Standard

D
is

ta
nc

e 
Y

 (
m

m
)

High
speed Standard

Long distance

D
is

ta
nc

e 
Y

 (
m

m
)

High
speed

Standard

Long
distance

Distance X (m)Distance X (m)Distance X (m)High
speed

Long distance

E32-DC200
(Reflective)

E32-D33
(Reflective)

E32-L25L
(Limited Reflective)

D
is

ta
nc

e 
Y

 (
m

m
)

High speed

Long
distance Standard

D
is

ta
nc

e 
Y

 (
m

m
)

High speed
Standard

Long distance

D
is

ta
nc

e 
Y

 (
m

m
)

Distance X (mm)Distance X (mm)Distance X (mm)

E32-TC200
(Through-beam)

E32-DC200
(Reflective)

E32-D21L
(Reflective)

E
xc

es
s 

ga
in

 r
at

io

Long distance

Standard

High speed

Distance (m)

Long distance

Standard
High speed 

Distance (mm)

Long distance

StandardHigh speed

Distance (mm)

E
xc

es
s 

ga
in

 r
at

io

E
xc

es
s 

ga
in

 r
at

io

Oper-
ating
level

Oper-
ating
level

Oper-
ating
level



..

����������������

■ ������ ��7������ )7������ (�

�������;!

!
�*�9����
��-��:3
�����������=

■ ������% ��7������& ��

 ��������;
���
����5����

�����58��
�����*���8�<&�
��������������5�����9%���
������������������8=

;
���
����5�����

���������������
�������	9
��������58��
�����*���8�<&�
�������
������������������
��	9
��������
����8=

Sensing Distance vs. 
Operating Range 
E32-DC200 (Reflective)

Hysteresis vs. 
Sensing Distance 
E32-D11L (Reflective)

Repeat Accuracy vs. 
Sensing Distance 
E32-DC200 (Reflective)

D
is

ta
nc

e 
Y

 (
m

m
)

0.1-dia. 
copper
wire0.02-dia. 

copper
wire

0.4-dia. 
copper wire

Distance X (mm)

Standard

High speed

Long
distance

H
ys

te
re

si
s 

(m
m

)

Distance Hysteresis

Distance (mm)

High
speed

Long
distance

StandardR
ep

ea
t a

cc
ur

ac
y 

Sensing object: White paper(µm)Sensing object: White paper

Distance X (mm)

E32-TC200 (Through-beam) E32-DC200 (Reflective)

A
na

lo
g 

ou
tp

ut
 (

V
)

Distance (mm)

A
na

lo
g 

ou
tp

ut
 (

V
)

Distance (mm)

E32-TC200 (Through-beam) E32-TC200+E39-F1 (Through-beam)

D
is

ta
nc

e 
Y

 (
m

m
)

Standard

Long distance

D
is

ta
nc

e 
Y

 (
m

m
)

High
speed

Standard Long
distance

Distance X (m)

High speed

Distance X (mm)

E32-DC200 (Reflective) E32-CC200 (Reflective) E32-D11L (Limited Reflective)

D
is

ta
nc

e 
Y

 (
m

m
)

High
speed

Long distance
Standard

D
is

ta
nc

e 
Y

 (
m

m
)

High
speed

Stan-
dard

Long
distance D

is
ta

nc
e 

Y
 (

m
m

)

Distance X (mm)

High speed Standard

Long distance

Distance X (mm) Distance X (mm)



.(

����������������

■ ������'��

 ��������;
���
����5����

�����58��
�����*���8�<&�
��������������5�����9%���
������������������8=

;
���
����5�����

���������������
�������	9
��������58��
�����*���8�<&�
�������
������������������
��	9
��������
����8=

200

150

100

50

0

−50

−100

−150

−200

1 2 3 4 5

X

Y

400

300

200

100

0

−100

−200

−300

−400

0.4 0.8 1.2 1.6 2

X

Y

200

150

100

50

0

−50

−100

−150

−200

0.2 0.4 0.6 8.0 1

X

Y

E32-TC200
(Through-beam)

E32-T11L
(Through-beam)

E32-T14
(Through-beam)

D
is

ta
nc

e 
Y

 (
m

m
)

Standard Long distance D
is

ta
nc

e 
Y

 (
m

m
)

D
is

ta
nc

e 
Y

 (
m

m
)

Distance X (m)Distance X (m)Distance X (m)

High
speed Standard

Long
distance High

speed

Standard
Long
distanceHigh speed 

50
40

30

20

10

0

−10

−20

−30

−40
−50

40 80 120
160

200

X

Y

80

60

40

20

0

−20

−40

−60

−80

80 160

240

320 400

X

Y

40

30

20

10

0

−10

−20

−30

−40

40 80 120 160 200

X

Y

E32-DC200
(Reflective)

E32-D11L
(Reflective)

E32-CC200
(Reflective)

D
is

ta
nc

e 
Y

 (
m

m
)

High speed

Long distance

Standard

D
is

ta
nc

e 
Y

 (
m

m
)

D
is

ta
nc

e 
Y

 (
m

m
)

Distance X (mm)

Distance X (mm)Distance X (mm) High speed
Standard High speed

Long
distance

Standard
Long distance



.-

����������������

!��
�����%�


■ �	
����������
�

3
������6�������6�����
���;!

!
6����8�

��
�-
���6����������������
���5����
��
�	�����

�������+�
��(+��;!

!
�

■ ���
��<�����3
�-����4!�-
����3�

����

���
��<�3�

���

��
��()����!����
������

������������
���"�������
���������6����
����
*
�������������������3
��
�����������������������������8

E ����
�����-����
�?�*������
��<����
������
����
*
����������������������
�8

E ����
��� ��-��
����
��<����
����
������	��
��
5�
������������������
������
��
����
8

E %���&��
�����
��<�����
����������
5�
������������������
��	���"��������<�
��������

�=�	��������8

3
�-����4!�-
����3�

���

��
��()����!��
��
������*����%���%���������������*
�%�
������
���
5�	����������

�������*���
�������������������
/%��
�
���8

E 3�������4!�-
��������	�
��%�
�����������
�
���
������������
�������������
����
��������
�������������
����
�����������

�����


E (�	���4!�-
��������	�
��%�
�������
�
���*����%��
����
�������
���
������������@����.@����<�
�����0��������
�
���=����������.@����.@@�

���<�
�����C��������
�
���=8�
����
�������
���
����
�����
��%��������������������������

������������������������	
��
�����B
����

���%�����3��������	�
�$�������
����%����������������
8

E 4��������4!�-
���������������
����������"��
���
�����������5�����9%���
��8

E ���
��<�'����3�

�����������%����������*��
��
����������
�������%��������������5�����9%���
��������������

���
�
������	���������

��
��������
��*��%
��������
�����������
8��������
��������
���%����
��
*
���.��
�����8����������
�.��
��������
�����
����
���5��%�

��������%��*��%
�����������
��<�����"����	
���������=8

E ���
��<�;����
�
����3�

������
*
���	�
��������������������*��
��
����������
�����������������%���������
�������8

E >��������
����
������*��
���������%��������
�����
������
����
*
���������������������B
��8������
��	�
����
����������
������

����������
�����
�
��
�	
�"

����
���5��%�������
����
*
��������
������%�������
����
*
�8

Lock Button Level Display

Setting Buttons

Operation Indicator (orange)
ON when output is ON.
OFF when output is OFF. Mode Selector

Use to select SET, ADJ, or RUN mode.

Operation Mode Selector
Use to switch between Light ON and Dark ON modes.

TEACH
MODE

Lock Button Level Display

Setting Buttons

Operation Indicator (orange)
ON when output is ON.

Mode Selector
Use to select SET, ADJ, or RUN mode.

Channel-selection Switch
Use to switch between channels 1 and 2.

TEACH
MODE

Shift

Example: Zero reset used to calculate threshold setting

At maximum incident level At minimum incident level

Zero reset

Incident level 
difference = 700

Threshold level: 350

New minimum 
incident level

New maximum 
incident level

����

���

���

�

���



.C

����������������

E ���
��������
�����	�
��%�
������
����������������
��������
��	��#������
��
��%���<�������=��
������8

E ����
�����-!���������
��%�
�����*����	�
����������,���������%��%�����
��8������%��S�����������%�S����
��()����!�������������B


��������
����
*
������
����@����-@HC��������
�����0����C�G�$���������%��%�8��������
�S�����������%�S��%����������
��()����!����

�����"���
�����
������
������
����
*
���������
�����0����C�G�$�����������%��	���
����������%��
��������"
�������������
������
����
*
�8

�������
�%������
��
����T���
���%������������
��
�8

�
������

■ (��-�����4!�-
����

��%���
��������
��������
��*����	�
��������������
�%�������������"������
������
������������
����8���
��()����!����
������
"

�
��%�
�� ����������
������'�����������������

�
��������%������ ����������� �
���������

:�5��%���
�����*�����
����� &�
�������%������������
�������	9
����"����%��	��#���%�����������%���

	
����
�����8�6�������
��������
�
����������
��	9
���8

�"���������
�������"�������"����%��

�	9
��

:��%�
��
*
������
�
��
�����������������
�
�������
������	
��
�
��
�8�

�
�
����������
�����������
����	9
���������
��������������������	9
���

�������������������	�
8


�
��������
�������"����%���	9
�� �
����
��
�����*����"����%������������	9
���8�������%�����������"���%���

�������
�
�������������
�
��
��	
�"

���	9
����������
�	��#���%��8�

&�
��������
�
�����������*������
������������	9
�����%�����������"��
8

3���������
���������������������� ����"���������
�������������������"�
���
�
������
�
��������������

�
�����������
����������
��8

Analog
output

Analog
output

Digital value Digital value

Example: Monitor focus increases resolution over a narrow range   Upper limit = 2400 and lower limit = 1000

Conventional analog output Output with E3X-DA-N's monitor focus



.1

����������������

■ ��D!�
	��
��(��-�����4!�-
����

:��������	�����=

��
��()����!��
��
�����
���-�����
�
������
������
��������%���

�����8���
������%�������	
��"��%����
���"��������
�����
��
����

�
��������%������8���
�����
�%�
�������
��������
��
��������%���

�����������
�����������()����!�������
��()����������
�����
�


��
����������
����
8�������
��()����������"
*
���%�
����%���

�
�
��������
��0����������
��.����
�
��
���������������
��������
�

�
��������%�����������
���������
������*��%����8�

■ ��C�	!	�3����
�*�
<�3�

����

:(��-����=

�
����
����
��
�
�������� ���'�����������
������8���
��
���
*
��

��������"��������������
�������
��������%��8�6����������
���
�
�����
�


����
��
�����������
�%�
8

��C�	!	�3����
�*�
<�3�

���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
� ���$2'�	%���������(��
������<���8=8

(8 �
���������������
�
�"�
����
��
*
���������������
�������

�
�������

�8��������������
����
*
��"�������
��������������
��

��
��������������
��������
�������

�8

-8 �
����
� ������>��&!'��"�������� �&!'������������

����
�
����
��������������
��
�����%������8

■ ;���
���
�(��-������

:+�
��!
���D�-
=

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
� ���$2'�	%��������������5����
���0��
����8

(8 �
���������������
�
�"�
����
��
���
*
����������������8�

�������������
����
*
��"�������
��������������
����
��
���
*
��

��������������8

-8 �
����
� ������>��&!'��"�������� �&!'�������������

����
�
����
��������������
��
�����%������8

C8 ��
����
����������%�������������
�8�

��
�� ������
��"���������
����������
������
�����
�
��
�����
*
�����

�������
8

(�

����

����



.J

����������������

■ (+��
���
�(��-�������

+�
�7+�
��!
���D�-


08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
� ���$2'�	%��������������5����
���0��
�����

"�
����
��	9
�����������
��
��������������8

(8 ��
��
���
*
����������������8

-8 �
��*
���
��	9
����������
��
��������
���������
�����
�

 ���$2'�	%��������������5����
���0��
����8

C8 �
���������������
�
�"�
����
���

���
*
����������������8

�������������
����
*
��"�������
��������������
����
���

������

�����������8�<��
��
���
*
����������"����������������
�������
�����

���%��8=

18 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

��
�� ��
����
����� "�����	9
��'����� "����%���	9
��'��
����������

�
�%�
���	�*
�����	
��
*
��
�8

■  ��
���
�(��-�������: ���
������=

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
����$2�	%��������������5����
���0��
�����"����

����	9
��

(8 ��
��
���
*
����������������8

-8 3���
���
��	9
��������
��
���
�����������������
�����
�

���$2�	%���������(��
�����������%�8

C8 �
���������������
�
�"�
����
���

���
*
����������������8�

�������������
����
*
��"�������
��������������
����
���

������

�����������8�<��
��
���
*
����������"����������������
�������
�����

���%��8=

18 �
����
�� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

������

����

������

������

(�



.?

����������������

■ ���
��<�3�

���

�()����!�����	
���������
��������������������������
����
*
���

���������
��
����
*
�������������������8

08 �
����
� ������>��&!'��"�������� �&!'���������8���������

�����
����
*
�����%������
��������
��������8

.8 3�
�����
� :
��'�	%�����%����� 0.(3'�����������
�8���������

�
��
����
*
�������"��������
�8

(8 3�
�����
� :
��'�	%������������*��
���
� +���;�����6����

�
����
*
�'��������8��"��������<�
��������

�=�	���������

���%������
��������
��������8

-8 3�
�����
� :
��'�	%���������
�%��������
� ��������6����
���

�
*
�'��������8

■ 3
�-����4!�-
����3�

���

�()����!��
��
������*����%���%���������������*
�%�
������
���
5�

�	������������*������*���
�������������������
/%��
�
�����%��������
�

�����"���7

������
�������������
�<�
�������%������=

����
���
�����
����
�<�
�������%������=


����
�������
��<���
���%������=


��������5���������
���<����������%������=

���������������������������
������<��������2�����
�����=

����������������
��������<��������
��
���������
�����=

M
����
�
�

6���������
�
�

:����������%�

3�������4!�-
���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
� :
��'�	%�����%����� �	
�'�����������
�8���
�

 ��������'��
�������%�������<�	
�=������
��
��%����
�����8�

��
� ��������'��
�������%����������*��
����
����������

�
�
�������������
8��
�����
����
����0���8

(8 3�
�����
� ���$2'�	%���������	�������
� ������������
'�

�
�������%������8� ����'����%������
��������
��������8���
�

 ������������
'��%����������*��
�����
�������������
���������

�	�%��08(����
������������
� ��������'��
�
�������������
�

<����%�
���	
�����%�
=8���
� ������������
'��
������������

�
�����
����
����-���8

-8 3�
�����
� ���$2'�	%���������	�������
� 2������

�'��
���

�����%������8� ��2�'����%������
��������
��������8���
�

 2������

�'��%����������*��
�����
�
�������������
���������

�	�%����
K�����������
�����������������
�<����%�
���	
�����

%�
=8��
�����
����
����.C@� �8

C8 3�
�����
� ���$2'�	%���������
�%��������
� ��������'

�
�������%��������������8

18 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

���������
������&!



.H

����������������

(�	���4!�-
���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
��������������
� :
��'�	%�����%����� �
��
@'�����������
�8�

 �
��
@������
��
��%����
�����8

(8 3�
�����
� ���$2'�	%���������
�������
��
���
�����
��
�����7

0��������
�
���������@����.@���

C��������
�
���������.@����.@@���

-8 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

4��������4!�-
���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
��������������
� :
��'�	%�����%����� �
��'��������

����
�8� �
��������
��
��%����
�����8

(8 3�
�����
� ���$2'�	%������������*��
���
� ��������'��%���

����8������������%����
��� ��
�'

-8 3�
�����
� ���$2'�	%���������
�%��������
� �
��'����
8

C8 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

���
��<�'����3�

����4!�-
���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
��������������
� :
��'�	%�����%����� 2
��'��������

����
�8� 2
��'������
��
��%����
�����8

(8 3�
�����
� ���$2'�	%������������*��
� 3
�#�2���'��������8�

�������
��������
��%����
��
*
���.��
�����8���
���5��

�%��*��%
�����������
�8

-8 3�
�����
� ���$2'�	%������������*��
� +������2���'�����

����8��������
��������
���%����
��
*
���.��
�����8���
�

�����%��*��%
�����������
�8

C8 3�
�����
� ���$2'�	%���������
�%��������
��
��%����
�����8�

 2
��'8

18 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8

���
��<�;����
�
����3�

����4!�-
���

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
��������������
� :
��'�	%�����%����� �0.('�����������
�8�

 �0.('������
�����������
�����8

(8 3�
�����
� ���$2'�	%�������������
���
����
�������������
�

�������8� ��.0'����%�����"����
��������
��������8

-8 3�
�����
� ���$2'�	%���������
�%��������
�����������
�������

 �0.('8

C8 �
����
� ������>��&!'��"�������� �&!'�����������������
�

�
����
��������������
��
�����%������8



(@

����������������

■ ����
���4�-!�

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
��������������
� :
��'�	%�����%����� ��&3'���

�������
�8

(8 3�
�����
� ���$2'�	%���������
����
��
���
�� %��
��������

�
�����'������
������
����
*
�8

-8 ����
�� ��"
���������
������'���
�����
� :
��'�	%�����%�����

 ���
'�����������
�8�3�
�����
� ���$2'�	%���������
����
�

��"
���������
�����8

��
�� 6��������������	�
�����
����� %��
�������'�����������"
�������

��
�*��%
������
� ��"
�������'8�$��*
��
�������������������	�
�

����
���� ��"
�������'�����������
��
���������
�*��%
������
�

 %��
�������'

C8 �
����
� ������>��&!'��"�������� �&!'������������

����
�
����
��������������
��
�����%������8

��
�� :����������%�����������*����	�
�������
��()���.0�!�

�()���C0�!���()���J�������
��()���H8

■ >����5���
�4!�-
���

��
������*��
���������%��������
�����
������
����
*
������������������

���B
��8������
��	�
����
����������
����������������
�����
�
��
�

	
�"

����
���5��%��������
������%�������
����
*
��8

08 �
����
� ������>��&!'��"�������� �&!'���������8

.8 3�
�����
� ���$2'�	%���������0��
����8���B
������%���

���
��������
��������8

(8 3�
�����
� ���$2'����� :
��'�	%���������%����
�%��������

(��
����������
�%��������
��������������
����
*
���������8

■ ���
����5���


������%�������
��	�
��%�
����������
�������������%�������
�
����
�

�������
��	��#������
��
��%���<�������=��
�����

08 �
����
� ������>��&!'��"�������� ���'���������8

.8 3�
�����
� ���$2'����� :
��'�	%���������%����
�%��������

C��
������%����� !
U'�����������
�8

�������
�� 6��������
�
�'��%�����������������
�����
� :
��'�

	%����8

�������
�
�����
� 6��������
�
�'��%����������������
�����
�

 ���$2'�	%�����%����� N��U'����
���������
��������8

3�
������
� :
��'�	%��������
5
�%�
���
� 6��������
�
�'

�%������8

(8 �
����
� ������>��&!'��"�������� �&!'������������

����
�
����
��������������
��
�����%������8V

■ 3�

����(���?���
�;�7���8�;�������

4���(����������(�

��
�����
�%�
�������
��������
��()������4�� ��
������%�������'�

��
���
����
������
�����
�%�
��������
�����������()����!�"����

��
������"����
5�
������7

08 �
�
�����
������
���������%�"��������
��	����*������
�

�"��������
���
����
� $20'���� $2�.'���������8

.8 �
����
� ������>��&!'��"��������������������

(8 3�
��������������
� :
��'�	%����8�6��$20�"����
�
��
�����

��
��0����
�� 0�
�'�"����	
��������
�8� .�
�'�"����	


�������
�����$2.�"����
�
��
�8

-8 3�
�����
� �
���'�	%�������������
���� 0�
����� .�
�'8�

������������
�
�������"����������
��"��������������
�
��
�8

C8 �
����
� ������>��&!'��"��������� �&!'������������

����
�
����
������8

0�

2������"������(��
�����

2������"������C��
�����

3�
����������
�

3�
������
5
�%�
����������
�
�

$20 $2.



(0

����������������

�
���������
�
�
��
�<�����()�������������"��6��
�
��
���
%��%��=

;!

!
� �

������������	���;
���
���

��
��()������4���"�����
�
��
�����������%��	�
��%��%���
��	�
��%����
���������*
���������������������������������
/%��
���"�

�
������"����9%�����
��
����8�6��������������	
�����	�
�������
�
��
�����������%�
���
��"���%��%�����%����
�������������
���

���
����
�
���
���
��������
!�������#�
!����
���������
���0�����.��	����������
������	�
��%��%������
���������%�8��������
���%�

�%��%������
������%����
�����
��	�
�����%���
������
��
���
��������������4����
5�	�����8���
������"����
5����
�����%�����
����
������


�%��%������
�������������	
�������
��"������
��()����������
��8����
������0�����
�����(�@@@��������
������.�����
�����0�@@@8

;!

!
� �

��������������3������

��
��%�����
��%��%������
�������������	
�%�
������
���� �
������

��
�'8��������
��%�����
��%��%������
�����%�
�����
��	�
������������

"�
��
����
������
����
*
����������
�����%����
���
����
��������
�8�

��
��%��%������
����	
��"����%�����
���"��� �
��������
�'�����	
�


���	����
�8

��
�� 
%��%��.������"����
��8

��������"��?���
�;�E������������?���
�;� ��������"�����8�;�E������������?���
�;�

��������"��?���
�;�E���������������8�;� ��������"�����8�;�E���������������8�;�

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

;���������
�������������

;���!
�����
�������������

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

In
ci

de
nt

 le
ve

l

Threshold 1

Threshold 2

Time

Output 1

Output 2

1000

0

ON

OFF

ON

OFF

3000

4000

�����$����
��0��
�����������
!��
%��%��0��%����


!�"�
����
������
����
*
�����	
�"

�����
������

0��������
������.8

�����$����
��0��
��������#�
!��
%��%��0��%����


���"�
����
������
����
*
�����	
�"

�����
������

0��������
������.8



(.

����������������

���
������

&���7����<����=

■ �	
����������
�

�	
����������
��+�
��������

��
�� �()���00�!,��-0�!,��+00�!7���-����8��(�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8-C��
.
D

���%�����������
�
�7�080���=����%�
�8

�()���.0�!,��C0�!7���-����8��-�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.��
.
D

���%�����������
�
�7�080���=����%�
�8

�	
����������
��+�
��������6���
��������
��
�������

��
�� ��-����8��(�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8-C���
.
D����%�����������
�
�7�080���=

���%�
�8�����������
����W.��8

E3X-DA11-N E3X-DAG11-N 
E3X-DA21-N E3X-DAH11-N 
E3X-DAB11-N E3X-DAB41-N 
E3X-DA41-N E3X-DAG41-N 
E3X-DA51-N E3X-DAH41-N

The Mounting Bracket can also be used on this side.

Two, 3.2 dia. holes Mounting Bracket (E39-L143)
SUS304 stainless steel

Mounting Holes
Two, M3

Two, 2.4 dia.

Hole for 
optical
commu-
nications

Cable (see note)

With Mounting Bracket Attached
Incident level display
Threshold level display

Operation indicator 64.3
(2.53)

31.5
(1.24)

10
(0.39 )

E3X-DA11V
E3X-DA41V

The Mounting Bracket can also be used on this side.

Mounting Bracket (E39-L148)
SUS304 stainless steel

Mounting Holes

Two, 2.4 dia.

Hole for 
optical
commu-
nications

Cable (see note)

With Mounting Bracket Attached

Incident level display
Threshold level display

Operation indicator

Two, M3

6.9

81.5
(3.21)

4.9×3=14.7
30.05

25.95

12
(0.47)

8

10.7

4.3

9.9

3.43.9

33
(1.30)

23.9

14.4

11.5 67.2

37

16

1623.9

6.6

11.2

2.8

40

5.4

5.4

3.4

3.4

16



((

����������������

�	
����������
��+�
��������6�(+����!

!
�������

��
�� ��-����8��-�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.���
.
D����%�����������
�
�7�080���=����%�
�8

�	
����������
��+�
��3
������������-
���

Mounting Bracket (E39-L143)
SUS304 stainless steel

Two, 2.4 dia.

Hole for 
optical
commu-
nications

Operation indicator

Two, 3.2 dia. holes

8

10.7

10
(0.39)

3
64.3

(2.53)

38.6

31.5
(1.24)

9.9

5.3

3.4

22.4 16

4.4

3.4

13 34.8

2.422.4 16

4

E3X-DA11TW
E3X-DA41TW

The Mounting Bracket can also be used on this side.

Mounting Holes

Cable (see note)

With Mounting Bracket Attached

Incident level display
Threshold level display17.15

4.9×3=14.7

13.05

10.75 16

Two, M3

E3X-DA6 E3X-DAG6
E3X-DA6P E3X-DAH6 
E3X-DA7 E3X-DA8
E3X-DAB8 E3X-DAG8 
E3X-DA9 E3X-DAH8  
E3X-DAB6 

Hole for optical communications

Operation indicator 
Incident level display
Threshold level display

Two, 
2.4 dia.

64.3 (2.53)

31.5
(1.24)

10
(0.39)

Dimensions with Master Connector Connected Dimensions with Slave Connector Connected

4.0 dia.

E3X-CN12: 
2.6 dia.
E3X-CN22:
4.0 dia. 



(-

����������������

&���7����<����=

�	
����������
��+�
���,������-
���6���
��������
��
�������

�	
����������
��+�
��3
������������-
���6�(+����!

!
�������

E3X-DA14V
E3X-DA44V

Hole for optical 
communications

Two, 
2.4 dia.

Two, M3

*The Mounting Bracket can 
also be used on side A.

With Mounting Bracket Attached

Incident level display
Threshold level display

Operation indicator

Mounting Holes

30.05

25.95

81.5
(3.21)

11.5

6.9

33
(1.30)

12
(0.47)

10
(0.39)

64.3
(2.53)

3

8

10.7
9.9

3.4

38.6

13

3.95.1
1.7

4.2

6.2 1.7

36.7

14

31.5
(1.24)

5.5

1.8

13.05

17.15
4.9×3=14.7

1.8

E3X-DA6TW
E3X-DA8TW

Incident level display
Threshold level display

Operation indicator

Hole for optical 
communications

Two, 2.4 dia.

64.3

67.5

71

1.5

31.5

1.8 5.1 3.9
3

4.8

12.95 11.55
17.45

4

10

Dimensions with Master Connector Connected Dimensions with Slave Connector Connected

E3X-CN21:  
4.0 dia.

E3X-CN22:  
4.0 dia.

1.5

31.5

1.8 5.1 3.9

12.95

4

10

64.3

67.5

71



(C

����������������

■ (��	�����%��-8

■ �����3�*���������-
��������3�
�

��
�� �()�$!007���-����8��(�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.���
.
D����%�������

����
�
�7�080���=����%�
�8

�()�$!.07���-����8��-�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.���
.
D����%������

����
�
�7�080���=����%�
�8

��
�� �()�$!0.7���.81����8�������
�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.���
.
D����%������

����
�
�7�080���=����%�
�8

�()�$!..7���-����8��.�����%������*��������%���
����%�����	�
�<����%������������
����������
�7�@8.���
.
D����%������

����
�
�7�080���=����%�
�8

��
�� �������������������%�
������
��()�$!@.���
�
�������
���	
���������
��������
*��
!
���$���%+%�,���������-..�!
�"��#

$���%������������	�
�������
�(����������������

�8

0@

<@8(H=1-81

<.8C-=

-@81C

<081@=

��1�(�"

Master Connectors
E3X-CN11
E3X-CN21

See note 4 dia.

10
(0.39)

2 m 
(6.56 ft.)

Slave Connectors
E3X-CN12
E3X-CN22

See note
E3X-CN12: 2.6 dia.
E3X-CN22: 4 dia.

10
(0.39)

2 m
(6.56 ft.)

���������3��*�������-
��

������/�



(1

����������������

&���7����<����=

■ 3�������7;������-
���

1.95 0.5

4 2

3 1

3.4

2.15 M8

L

31.4

21.5

12.9

30

50

5

4 dia.

9 dia.

1.95

0.5

3.4

2.15

L

30

50

5

20.5

23.1

4 dia.

9 dia.

3
�����
������-
���:�
������������-����=

�3�4��#�"�#/����:?F��	=

�3�4��#�"�#/$���:?F$�	=

?�3��
��������-
���:�
������������-����=

�3�4��#���#/����:?F��	=

�3�4��#���#/$���:?F$�	=

3
�����
������-
���:�
���
����������-����=

�3�4��#�"�#/��5

�.��

<18C1���8=



(J

����������������

■ ��������������

(Set: E3X-MC11) 
(Console only: E3X-MC11-C1)

Mobile Console Head 
(E3X-MC11-H1)

AC adapter jack Communications jack

Connection indicatorMenu indicators

Output indicator

Channel
buttons

Teaching 
button

Enter button

Mode
button

Function
button

Battery 
indicators

Power supply button

Escape button

Mode display

Channel indicator

Communications jack

M5 ball plunger

Optical communica-
tions position

22
(0.87)

136
(5.35)

50
(1.97)

20
(0.79)

51.3 (2.02)

30.3
(1.19)

52.8
(2.08)



(?

����������������

&���7����<����=

��!�
����%��-8�
�

���� ��
�

10 max.

Two, 3.2 dia.

Four, R1.7

E39-L143
E39-L148

7

3.4

1

3163

710.3

7.35.3

(10.3) 2.5

34.8
22
16

26.8

3

3.4
1

12

1.5

9.1

9 3.4

2

R1.7R1.7

2

16

27

3

4

3

4.3
7.3

35

22

3.4

16

9.5

16±0.1

12 max.

Two, 3.2 dia.

Two, M3

Mounting Holes

Material: Stainless steel (SUS304)

Material: Stainless steel (SUS304)

16±0.1

Two, M3

Mounting Holes

PFP-M

M4 spring washer

M4×8, pan-head screw



(H

����������������

■ 4�����;

�-�������

&���7����<����=

(���!������	�4��������
��:3������� ����=

6������
�����
������������"���

��%�����8�:��
���"����%����������#������������"���

��%�����8=Free-cut

0.9 dia. 1.8 dia.

Sensing head, 2 dia. (stainless steel)
Heat-shrinkable tubing

1-dia. optical fiber

Fiber Attachment 
(E39-F9)

2

Two toothed washers

0.9 dia.
Sensing head, M3 x 0.5 
(nickel-plated brass)

Fiber Attachment 
(E39-F9)

Two hexagonal clamping nuts

1-dia. optical fiber

1.7

1.4 dia. 2.4 dia. Sensing head, 3 dia. (nickel-plated brass)
2.2-dia. optical fiber

14

Two toothed washers

Two hexagonal clamping nuts

Sensing head, M4 x 0.7
(nickel-plated brass)

14

M2.6 x 
0.451.4 dia. 2.2-dia. optical fiber

E32-T11L E32-T12L

E32-T21L E32-T22L

10-mm dia. 
lens (PMMA)

Sensing head, M14 x 1
(ABS) Two hexagonal clamping nuts

2.2-dia. optical fiber

E32-T17L

1.0 dia.
M2.6 x 0.45

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M4 x 0.7
(nickel-plated brass) 2.2-dia. optical fiber

E32-TC200

3.2 3 11

2,0007

3 11

2,000

2.5

5.5
11

1.8

25

10

2,000

25

10

17

22 2,000

12

519

23

42

10,000

3.2 3 2.4

14 2,0007

E32-T11R
151,
0.075 dia. Sensing head, M4 x 0.7

(nickel-plated brass)

Two toothed washers
Two hexagonal clamping nuts

2.2-dia. optical fiber

3.2

7

M2.6

14

3 2.4

2,000

E32-T12R

3 11

151,
0.075 dia. 2.4 dia.

Sensing head, 3 dia. 
(nickel-plated brass)

14

2.2-dia. optical fiber

2,000

1.0 dia. 2.2 dia.
Two toothed washers

Two hexagonal clamping nuts

Sensing head, M3 x 0.5
(nickel-plated brass)

2.2-dia. optical fiber

3 dia.
1.5

E32-TC200A

0.5 dia.
1-dia. optical fiber

Sensing head, M3 x 0.5 
(nickel-plated brass)

Fiber Attachment 
(E39-F9)

Two toothed washers
Two hexagonal clamping nutsE32-TC200E

2,000
41

7
5.5

1.8 11 2,000

10

25

1.8

5.5

2.5

E32-T21R
151,
0.037 dia. Sensing head, M3×0.5 (nickel-plated brass)

Two toothed washers
Two hexagonal clamping nuts

2.2-dia. optical fiber

3 dia.

13.5

9.5

1.8

2,000

5.5

0.5 dia. 2 dia.

Sensing head 
(SUS303 stainless
steel)

Heat-shrinkable tubing

1.4 dia.
1-dia.  
optical fiber 

E32-T22

17

22 2,000

12

25

10

1.0 dia.

Stainless
tube
(SUS304)

Two hexagonal clamping nuts
Two toothed washers

Sensing head, M4 x 0.7 (standard)
(nickel-plated brass) 2.2-dia. optical fiber

1.2 dia. 
max.

90

E32-TC200B
E32-TC200B4

Note:   The value in the parentheses is for the E32-TC200B4.

E32-T22R

17

22 2,000

12

25

10

Sensing head 
(SUS303 stainless steel)

1.4 dia.2 dia.
151,
0.037 dia.

Heat-shrinkable tubing

1-dia.  
optical fiber 

Fiber Attachment (E39-F9)

Fiber Attachment (E39-F9)
3.2

11

2.4

2,0007
40 (see note)

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

.��

<18C1���8=

0@��

<(.8?���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=
.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-@

����������������

&���7����<����=

Sixteen,
0.265 dia.

M2.6 x 
0.45

Sensing head, M4 x 0.7
(nickel-plated brass)  

Two toothed washers

Two hexagon clamping nuts

Protective tube 2.2-dia. optical fiber

14

E32-T11

E32-T21 E32-T22B

Four, 0.25 dia. 1-dia. optical fiber

Fiber Attachment (E39-F9)

Sensing head 
(nickel-plated brass)

1.5 dia.

3 dia.

Sensing head, 3 dia. 
(SUS304 stainless steel)

45° Heat-shrinkable tubing 
2.2-dia.  
optical fiber

Sensing surface

Stainless
tube, 1 dia.

Sensing head, 
2 dia. (SUS304 
stainless steel)

1.4 dia. 1-dia. optical fiber

Heat-shrinkable
tubing

45°

Fiber Attachment (E39-F9)

E32-T24
E32-T24R

E32-T14L
E32-T14LR

R3.5 Optical axis Two, 3.2 dia. 2.2-dia. optical fiber

10±0.2

Lens unit (PMMA)
4.4 dia.

Heat resistive ABS
Nitrile rubber

E32-T14

Four, 0.25 dia.

Fiber Attachment (E39-F9)

Two toothed washers
Two hexagon clamping nuts

Protective tube

Sensing head, M3 x 0.5 
(nickel-plated brass)

E32-TC200F
E32-TC200F4

1.8

5.5

2.5

2,00011

10

25
0.5 dia.

Stainless
tube
(SUS304)

Two hexagon clamping nuts
Two toothed washers
Sensing head, M3 x 0.5
(nickel-plated brass)

1-dia. optical fiber
0.9 dia. 
max.

90

Note:   The value in the parentheses is for the E32-TC200F4.

Fiber Attachment (E39-F9)

2.4 15

2,000

3.3

7

3.2

5.5

2.5

10

25

2,00011

1.8 15
1-dia. optical fiber

10

25

10

2,000

35

30

1.5
1.5

2.8

1

12

2,000

35 2,000

15

1.50.5

1

15 12

25

10

9.2

78

2.5

10.5

8.2

16 11.2 2,000

7

E32-T12F

4-mm
dia. lens Sensing head, 5 dia. Fluoride resin 4 dia. 2.2-dia. optical fiber

20

2,000 100

E32-T14F

Sensing head, 5 dia. Fluoride resin 4 dia. 2.2-dia. optical fiber

Optical axis
4.5

21

2,000 100

40 (see note)

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut

E32-T81R

E32-T81F

30 2,000

13.2

B

285

A

6 dia.

3.7 dia.

Protective tube
2 dia. 4 dia. 5 dia. 2.2 dia.(R6)

0.8 70

Sleeve

Note: Section A resists 200°C and section B
 resists 110°C. 

7

20
3

2.4

10 2,000

5

3

B

1320

A

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M4 x 0.7
(SUS303 stainlessM2.6 x 0.45

0.7 dia.
4 dia.

(75)

2 dia.
4 dia. 5 dia. 2.2 dia.Sleeve3.6 dia.

Protective tube

Note: Section A resists 200°C and section B
 resists 110°C. 

PFA cover PFA tube

Fluorocarbon resin tube

steel)

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-0

����������������

E32-T54

Note:   Resistant temperature is 150°C. 
Resistant temperature is 130°C
when used continuously.

Sensing head, 3 dia. (SUS303 stainless steel) 2.2-dia.  
optical fiber

2 dia.

(See note) 
13*4 dia.

4 dia.5 dia. SleeveM2.6 x 0.45

Flexible tube, 2.8-dia.  
(stainless steel)

Hexagonal clamping screw
1.0 dia.

Two hexagonal clamping nuts
Two toothed washers

Sensing head, M4 x 0.7 
(SUS303 stainless steel)

E32-T61

Note: Section A resists 300°C and section B (which is inserted to  
 the Amplifier) resists 110°C. 
 The operating temperature of the section to be inserted into  
 the Sensor (marked with *) must be within the operating  
 temperature range of the Amplifier. 

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M4 x 0.7 (nickel-plated brass)

2.2-dia. optical fiber2.85 dia.

1.5 dia.

E32-T51

Note:   Resistant temperature is 150°C. 
Resistant temperature is 130°C
when used continuously.

15

2.4

1

7

17 2,000

7

20

3
2.4 10 2,000 28

5

BA

1

1.7

2.5

45

25 20

2,000

45°

Sensing surface

30 max.

E32-T84S

Note: Section A resists 200°C and section B (which is inserted to  
 the Amplifier) resists 110°C.  
 The operating temperature of section to be inserted into the  
 Sensor (marked with *) must be within the operating tempera- 
 ture range of the Amplifier.

Flexible tube,  
2.9-dia.  
(stainless steel)

Sleeve

Sensing head (SUS303 stainless steel) 

Lens (2 dia.)

4 dia.

3 dia.

3.5 dia.

4 dia. 5 dia.

(see note)
*

3 dia.

15

20

BA

12

6

12

2,000

R5

13(14.2)

90°

Two, M3

Two, 2.2-dia.  
optical fiber

Lens
(PMMA)

E32-G14

Mounting Holes
1.64

23.5 9.4

1.6

9.2

24

R3.5

10

20

25.2

36.3 2,000

R1.6 R1.6

3.2 9

77.4

9.4

Sensing head (ABS)

Optical axis

E32-T22S

1.7 dia.

3 dia.

Sensing head
(nickel-plated brass) 2.2-dia. optical fiber

15 2,000

Free-cut

Free-cut

Free-cut Free-cut

Sensing head, 
M3 x 0.35
(SUS303
stainless
steel)

Two hexagonal clamping nuts
Two toothed washers

Silicone tube (see note)
Four, 1-dia. plastic fibers

Sleeve

Note: One set of silicone tubes is black while the  
 other set is grey for easy identification when  
 they are connected to the emitter and receiver.  

E32-M21

3.5 dia.

Sensing head 
(nickel-plated brass)

2.2-dia. optical fiber

Mounting bracket (provided)

Sensing surface

E32-T24S

3.2

10

1.8

20.5

2

2,000

11

3

0.4

17.6 3.2

28

13

23

11 2,000

1.8

Free-cut

2 dia.

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-.

����������������

&���7����<����=

E32-T16W
E32-T16WR

Sensing
surface 
(3 x 30)

Optical
axis

Sensing
head (ABS)

2.2-dia.  
optical fiber

Two, 3.2-dia. mounting holes, 
6-dia. countersinking 

Mounting Holes
Two, M3

E32-T16J
E32-T16JR

Receiver

Emitter

Sensing sur-
face (2 x 11)

Optical
axis

Two, 3.2-dia. mounting 
holes, 6-dia. countersink- 
ing

2.2-dia.  
optical fiber

Sensing surface (2 x 11)

Prism
(PMMA)

18

69
65

45

2,000

12

23

18.5

45±0.2

3.3

27
20

2

14.5

10.7

4

2,000

19

Sensing
head (ABS)

Black

R2 R2

2-R2

6 dia.

Two, M3

2.2-dia. optical fiber

Mounting Bracket
(E39-L4)

Two, 3.2 dia.

Lens
(2 x 10)
(PMMA)

Sensing head 
(heat-resistive 
ABS)

E32-T16
Mounting Holes

0.5-mm-wide Slit Seal
(Supplied with the Unit in Pairs)

1-mm-wide Slit Seal
(Supplied with the Unit in Pairs) 

27

2,000

25 20

58

43.2

5.5

8.4

33

15.5
8.85 3

204

20

3.2410.2

1.2 114.5

2.3

3.2

20

Two, 3.2 dia.

6

0.5

4

15 23

6

1

4

15 23

Black

With Mounting Bracket

Free-cut Free-cut

Optical axis

Free-cut

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

1H

<.8J.=

.(

<@8H0=
C

<@8.@=

0-8C

<@8CJ=

-

<@801=

.J

<080@=

.@

<@8JH=

C?

<.8.?=



-(

����������������

&���7����<����=

19 27

14.5

10.7

4

2,000

20

6-dia.  
countersinking

Sensing head 
(heat-resistive ABS)

2.2-dia. optical fiber

Sensing surface 
(2 x 11) (PMMA)

E32-T16P
E32-T16PR

0.5-mm-wide Slit Seal 
(Supplied with the Unit 
in Pairs) 

1-mm-wide Slit Seal 
(Supplied with the Unit 
in Pairs) 

With Mounting Bracket

Optical
axis

E39-L94 Mounting Bracket 
(Order Separately)

Black

Black

Mounting Holes

Two, M3

Two, M3 
counter-
sunk
screw

Optical axis

Two, 3.2 dia.

3.4

0.5

13.4

26.4

3.4

1

13.4

26.4

20

35

2

52

43.2

23.2

20

4

19

3.212.2 3.2

4 20

4 4.8

Free-cut

.��

<18C1���8=

-

<@801=

0-8C

<@8CJ=

.J

<080@=

(C

<08(?=

C.

<.8@-=



--

����������������

■ 5����-
�*��4��������
�

&���7����<����=�

6������
�����
������������"���

��%�����8�:��
���"����%����������#������������"���

��%�����8Free-cut

Sensing head, M3 x 0.5
(SUS304 stainless steel)

Two hexagonal clamping nuts
Two toothed washers Two Fiber Attachments (E39-F9)

Two, 1-dia. optical fibers
Two, 0.5 dia.

Two, 1.0 dia.
4 dia.

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M6 x 0.75 (ADC)
Two, 2.2-dia. optical fiber

Two, 0.9 dia. 2.7 dia.

Sensing head, 3 dia. 
(nickel-plated brass)

Two, 1-dia. optical fibers

Two Fiber Attachments (E39-F9)
Two hexagonal clamping nuts

Two toothed washers
Sensing head, M4 x 0.7
(nickel-plated brass)

Two Fiber Attachments  
(E39-F9)

Two, 0.9 dia.
Two, 1-dia. optical fibers

3 dia.
Two,  
1 dia.

Heat-shrinkable tubing Two, 2.2-dia. optical fibersSensing head
(SUS304 stainless steel)

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M6 x 0.75
(nickel-plated brass)

Two, 2.2-dia.  
optical fibers4 dia.

Two, 1.4 dia.

E32-D11L

E32-D21L

E32-D12

E32-DC200E

E32-D22L

E32-DC200

5.2 3 2.4

20 2,00010

2,000

13515

3.2 2.43

15 2,0007

10

25

3

15 2,000

25

10

4.8 2.43

17 2,00010

E32-D11R

2-151,
0.075 dia.

Two toothed washers
Two hexagonal clamping nuts

Two, 2.2-dia. optical fibers
4 dia. Sensing head, M6 x 0.75 (ADC)

4.8

10 17 2,000

3 2.4

2,000

13515

E32-D12R

2-151,
0.075 dia.

3 dia.

Sensing head
(SUS304 stainless steel)

Heat-shrinkable tubing Two, 2.2-dia. optical 
fiber

2.5

5.5 11

1.8

2,000

25

10

Free-cut

Free-cut

Free-cut

Free-cut

Free-cut Free-cut

Free-cut Free-cut

Two, 0.5 dia.

90
(40)
(see note)

Note:   The value in the parentheses is for the E32-DC200F4.

1.2 dia. max.

Stainless tube 
(SUS304)

Sensing head, M3 x 0.5 
(SUS304 stainless steel)

Two hexagonal clamping nuts
Two toothed washers

Two, 1-dia. optical fibers

Two Fiber Attachments (E39-F9)

E32-DC200F
E32-DC200F4

Two, 1.0 dia.

2.5 dia. 
max.

Stainless
tube
(SUS304)

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M6 x 0.75 (fine)
(nickel-plated brass) 

Two, 2.2-dia. optical fiber

90

E32-DC200B
E32-DC200B4

Note: The value in the parentheses  
 is for the E32-DC200B4.

Two, 1-dia.  
optical fibers

Two Fiber Attachments (E39-F9)Two toothed washers
Two hexagonal clamping nuts

Sensing head, 
M3 x 0.5
(nickel-plated  
brass)  

E32-D21R

2-151,
0.037 dia.

2.5

5.5
11 2,000

1.8

10

25

E32-D22R

3

15 2,000

25

10

Two Fiber Attachments (E39-F9)

Two, 1-dia.  
optical fibers

Sensing head, 3 dia.  
(nickel-plated brass)2.7 dia.

2-151,
0.037 dia.

2,00017

2.45.2

10
2.5

5.5
11

1.8

2,000

25

10

Free-cut

Free-cut

Free-cut

(40) (see note)

Free-cut

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-C

����������������

E32-D331E32-D33

Two, 0.25 dia.

0.8-dia.
stainless tube

Sensing head, 3 dia.  
(SUS303 stainless steel)

Heat-shrinkable  
tubing

Two, 1-dia.  
optical fibers

Two Fiber Attachments (E39-F9)

Two, 0.125 dia.

Sensing head, 
2 dia. (SUS303 
stainless steel)

1.2-dia. Irax tubing

3.5-dia. branching
connector

Sleeve (not removable)0.5-dia. 
stainless
tube

E32-D11

Sixteen,
0.265 dia. Two toothed washers

Two hexagonal clamping nuts

Protective tube Two, 2.2-dia. optical fibers Four, 0.25 dia. Two, 1-dia.  
optical fibers

Two Fiber Attachments (E39-F9)

Two toothed washers
Two hexagonal clamping nuts

Protective tube

Sensing head, M3 x 0.5
(nickel-plated brass) Sensing head,

M6 x 0.75
(nickel-plated  
brass) 

10

25

15

35 2,000

15 12
1515 1002,000

15

25

10

5.2

10 17

2.4 15

2,000

E32-D21

5.5

25

10

2.5 151.8

11 2,000

2-4, 0.25 dia.

Two, 1-dia. optical fibers

Two Fiber Attachment (E39-F9)
Two toothed washers

Sensing head, M4 x 0.7
(SUS303 stainless steel) 

E32-D21B
Two hexagonal clamping nuts

3.2 2.43

15 2,0007

10

25

E32-D22B

Four, 0.25 dia.

Sensing head,
(SUS304
stainless steel)

1-dia.  
optical fiber

3-dia.  
branching 
connector (ABS)

Sleeve (not removable)

1.5 dia.

15 1002,000

15

25

10

E32-CC200

Note:   The fiber for the emitter is identified by a white line.

1.0-dia. light
emission fiber

2.5 dia.

Two toothed washers
Two hexagonal clamping nuts

Sensing head, M6 x 0.75 
(nickel-plated brass) Two, 2.2-dia. optical fibers

Sixteen, 0.25-dia. 
light reception fibers

5.2

10 23

3 2.4

2,000

Sensing head, 3 dia.  
(SUS304 stainless steel)

6-dia. branching 
connector
(heat-resistive ABS 
black resin)

1-dia. light  
emission fiber

Sixteen, 0.265-dia.  
light reception fibers Two, 2.2-dia.  

optical fibers

Note:   The fiber for the emitter is identified by a yellow dotted line.

E32-D32L

15 400 15 1,570

2,000

Free-cut

Free-cutFree-cut

Free-cut

Free-cutFree-cut

E32-C41

Two hexagonal 
clamping nuts

Fiber attachment 
(not removable)

White: Heat-
shrinkable tubing 
for emitter side

One, 0.175-dia. 
light emission 
fiber

Sensing head, 
M3 x 0.5
(SUS303
stainless steel)

Two,  
1.2-dia.
optical fibers

3.5 dia. 
branching
connector
(ABS)

Six, 0.175-dia. 
light reception 
fibers

Two toothed 
washers

2.6-dia.  
Irax tubing

E32-C31

Note:   The fiber for the emitter is identified by a white line.

0.5-dia.  
light emission fiber 

Two, 1-dia. 
optical fibers

Two Fiber Attachments (E39-F9)

Four, 0.25-dia.  
light reception fibers

Sensing head,
M3 x 0.5 
(nickel-plated 
brass), 
2.44 to 2.49
minor diame- 
ter

Two hexagonal clamp nuts
Two toothed washers

Heat-shrink- 
able tubing

10

25

25 2,000

1220
2.5

17

1.8

22 1,000

15 10

25100

5

Free-cut

.��

<18C1���8=

.��

<18C1���8=

0��

<(8.?���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-1

����������������

&���7����<����=�

2.6-dia. Irax tubing
One, 0.175-dia. 
light emission 
fiber

Sensing head, 2 dia. 
(SUS303 stainless steel)

Two, 1.2-dia. 
optical fibers

Branching connector 
(ABS)

Six, 0.175-dia. 
light reception 
fibers

E32-C42 Two fiber attachments 
(not removable)White: Heat-

shrinkable tubing 
for emitter side

3 dia.

15
2

1,000

15 10

25100

5

22

0.5-dia.  
light emission fiber 

Sensing head, 2 dia.  
(SUS303 stainless steel)

Heat-shrinkable tubing

Two, 1-dia. optical fibers

Two Fiber Attachments (E39-F9)

Four, 0.25-dia.  
light reception fibers 

3 dia.

E32-D32

Note:   The fiber for the emitter is identified by a white line.

10

25

15

22 2,000

12
2 6 dia.

45°

Sensing head 
(SUS304 stainless
steel) Heat-shrinkable tubing

Two, 2.2-dia.  
optical fibers

Sensing surface

Light baffle

E32-D14L
E32-D14LR

5.7

1.5

1 2

30

35

12

2,000

E32-D24
E32-D24R

Light baffle Sensing surface

45°

Sensing head, 3 dia.  
(SUS304 stainless steel)

Heat-shrinkable tubing

Two, 1-dia. optical fibers

Two Fiber Attachments (E39-F9)2-dia. stainless tubing

35

15 1215

1

0.5 1.5

2,000

10

25
Sensing head, 6 dia. Fluoride resin 5 dia. Two, 2.2-dia. optical fibers

E32-D12F

2,000

16

100

Free-cut Free-cut

Free-cutFree-cut

Two, 1.5 dia.

Two toothed washers
Two hexagonal clamping nuts

Sensing head,
M6 x 0.75
(nickel-plated brass)

Two, 2.2-dia. optical fibers

E32-D51

Note: Resistant temperature is 150°C.  
 Resistant temperature is 130°C
 when used continuously.

3.1

4.9

2.4

133

17 2,000

10

1.4 dia. M4 x 0.7 3.5 dia.5 dia.

SUS316L

13

Two hexagonal clamping nuts
Two toothed washers

Sensing head, M6 x 0.75
(SUS303 stainless steel) 

Flexible tube
(stainless steel)

Hexagon 
clamping
screw

Sleeve

(see note)

5 dia.

*

E32-D61

Note: Section A resists 300°C and section B (which is inserted to the Amplifier) resists 110°C. The operating  
 temperature of the section to be inserted into the Sensor (marked with *) must be within the operating  
 temperature range of the Amplifier.

10

A B

20 5

3

2,000 16.5
6.55

8

6.4

15

3 2
2.4

Free-cut

0��

<(8.?���8=

.��

<18C1���8=
.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=

.��

<18C1���8=



-J

����������������

E32-D73

Note: Section A resists 400°C, section B resists 300°C, and section C (which is inserted to the Amplifier)  
 resists 110°C. The operating temperature of the section to be inserted into the Sensor (marked with *)  
 must be within the operating temperature range of the Amplifier.

1.0 dia.

13

SUS316L

Two hexagonal clamping nuts
Two toothed washers

1.25-dia. stainless tubing

SUS flexible tube

Hexagon 
clamping
screw Sleeve

1.65 dia. 2.5 dia. 4 dia. 2.8 dia.
5 dia.

Sensing head, M4 x 0.7
(SUS303 stainless steel)

(see note)
*

5
7

60 20 10 2,000 16.5

5

A B C

2.4 5
6.5 6.4

158

E32-D36P1

Two,  
2.2-dia. 
optical fibers

Mounting Holes
Two, M3

Sensing head 
(nickel-plated 
brass)

32 x 0.265 dia. 
(Light emission 
fibers and light 
reception fibers
are positioned
alternately.) 

15

10

5

25

2,000

10.85

2

10±0.2

Two, 3.2 dia.  
mounting
holes

Lens
(PMMA)

Silicone tube
Two, 1-dia.  
optical fibers

Two Fiber Attachments (E39-F9)

Sensing head
(ABS)

Two hexagonal clamping nuts
Two washers

M6 x 0.75

5 dia.

E32-R21
(One E39-R3 
Reflector is 
Supplied with 
the Sensor)

10

25

27.8

17.8

2.8 11

3

14

2,000

10

2.2

Lens (PMMA)

Mounting bracket (provided)

Two, M3 screws (provided)

Two, 2.2-dia. optical fibers
Standard length: 2 m

Sensing head (ABS)

E32-R16
(One E39-R1 
Reflector is 
Supplied with 
the Sensor)

With Mounting Bracket

15.2

7.2

10

21
17

1

21.5

27

13

3.2

15

7

1.5
3.2

16 4

1.5

8

22.5 16±0.2

Free-cut

Free-cut

6

E32-L56E1
E32-L56E2 E32-L56E1

Note:   Label is attached to the fiber to be inserted in the emitter side.

Sensing head 
(aluminum) 

2.2-dia.  
light
reception
fiber

2.2-dia.  
light
emission
fiber

Optical
axis

Two  mounting 
holes, 3.5 dia. 
countersinking

2.2-dia. light  
reception fiber 

2.2-dia. light  
emission fiber

E32-L56E2

6.2 dia.

3.5 dia.

E32-L56E 1
MADE IN JAPAN

E32-L56E

MADE IN JAPAN

2

38

58

(15.2)

5
10

38 (29)

(23)
(3.3)

48

1,500

(15.2)

90°

3

Free-cut

Free-cut

08C��

<-8H.���8=

.��

<18C1���8=

.��

<18C1���8=

.J

<08@1=

(?

<08-H=

(?

<08-H=

1

<@8.(=

.��

<18C1���8=

0C

<@8CH=

.C

<@8H?=

C

<@80H=

C?

<.8.?=



-?

����������������

&���7����<����=

■ �--���������:;�����3�
���
��<=

5����-
���

E32-L24L

Optical
axis

Sensing head 
(PC)

6-dia. 
countersinking

Side view prism (PC)

Two, 1-dia. optical fibers

Two Fiber Attachments 
(E39-F9)

Lens, two, 3.2 dia.

Two, 3.2 dia.

10

25

18

2,000

4

6

3.3

3.6

3.3 1.5

20
6.5

E32-L25L

Two, 3.2 dia.
6-dia. countersinking

Two, 2.2-dia. optical fibers

Sensing head (heat 
resistive ABS)

Two, 2.2-dia. optical fibers

Two, 3.2 dia. 

Sensing head
(heat resistive  
ABS)

Sensing distance

E32-L25 E32-L25A

Note:   The fiber for the emitter is identified by a white line. Note:   The fiber for the emitter is identified by a white line.

Sensing distance

Sensing head 
(PC)

6-dia. 
countersinking

Two, 1-dia. optical fibers

Two Fiber Attachments 
(E39-F9)

Two, 3.2-dia. lens

Two, 3.2 dia.

Sensing distance

10

25

18

2,000

6

16 6.5

2,000

20

10

6.5 4.8

6.520

4

20

2,000

6.54.8

6.5

20

104

Free-cut

Free-cut

Free-cut Free-cut

6-dia. countersinking

.��

<18C1���8=

0?

<@8J0=

-

<@801=

.@

<@8J?=

-

<@801=

01

<@81(=

0?

<@8J0=

C

<@80H=

.@

<@8J?=

.@

<@8J?=

.@

<@8J?=

.@

<@8J?=

C

<@80H=

.��

<18C1���8=

.��

<18C1���8=

Two, 3.2 dia.

Adhesive tape

Two, 3.5 dia.

Reflector (Miniature)
E39-R3

Reflector
E39-R1

Material: 
Reflective surface: 
acrylic 
Back: ABS

Material: 
Reflective surface: 
acrylic 
Back: ABS

34

40.3
(1.59)

52

59.9
(2.36)

2.7

8

1.6

7

29
(1.14)

4.5 6

R20
3.4

7

18.45

22.9

11

20
0.2

0.2

16

22.5
(0.88)
19.3

343834.8
41.8

(1.65)

10.1 1.2

25.4 R25.4
3.4

10°1.2
2.6

13.7

3.4

14°

Two, M3

SUS304 stainless steel

J8C

<@8.H=

.��

<18C1���8=



-H

����������������

E39-L4 E39-L94

Material: ironMaterial: iron

Two, 
3.2 dia.

3.2 dia.

4

20
(0.79)

11
2.3

3.2

4-R1.61.2

5.5

20±0.2

58
(2.28)

33
(1.29)

5
3.2

4

3.2

20

4-R1.6
4

20
(0.79)

2.3
3.2

1.2

5.8

19±0.2

52
(2.05)

35
(1.38)

3.2

4.8
3.2

4

20

2-R1.6

4-R1.6

+0.2
    0

Two, 3.2-dia. 
sensing holes

Two, 3.2-dia. 
mounting holes

10.5±0.1

Two, M3
Fiber Unit mounting 
holes (E32-TC200A)

4 dia.

M2.6
Effective depth: 3.2 
Countersunk with straight
edge, depth: 0.9

2.8 dia.

E39-F1
Long Distance Lens Unit

Note:   One set includes two units.

E39-F2
Side-view Unit

E39-F5
Side-view Reflective Unit

4 dia.

M2.6 x 0.45
Effective depth: 3.8 
Countersunk with straight
edge, depth: 0.9

Note: Only E32-TC200A can be mounted. When mounting,  
 remove all of the accompanying screws first and then  
 screw the E32-TC200A into the E39-F5 until the stop- 
 per comes into contact.

Note:   One set includes two units.

Material:
Tube: Brass
Lense: Optical glass

Material:
Tube: Brass
Lense: Optical glass

Two, 4 dia.

M3 toothed 
washers

Two, M3 x 3 slotted 
head machine screws

M3 x 6 angle 
fixing screws8±0.2

Two, 3.2 dia.

E39-F3
Lens-equipped Reflective Unit

Material:
Tube: Brass
Base: Aluminum

Note: Fix the fiber head using the slotted head machine screw. 
 Do not insert the E39-F1 Lens.

Material:
Base: Brass
Reflector: Stainless steel

8.9 9.2

5.7

3

18
(0.71)

8.5

3.6

12

6.5

6.4

6.4

20.7

2.6
4

12.2

18

13
(0.51)

4

2.1

5

Lens Units



C@

����������������

 ��
�-
�*��3
�����(!���

E39-F3A
Small Spot Lens Unit

M2 x 2 hexagon set 
screw (for fixing fi-
bers)

4 dia.6 dia.

Lens (3.7 dia.)
2.1 dia.

Material:
Tube: Aluminum
Optical lense: Optical glass

Note: E39-F3A is a Lens Unit for the E32-D32  
 and E32-C42.

E39-F3A-5
Small Spot Lens Unit

Lens (3.7 dia.)

2.1 dia.

Note: E39-F3C is a Lens Unit for the  
 E32-C31 and E32-C41.

5 dia.

M3 x 0.5, 
effective 
length: 3

E39-F3B
Small Spot Lens Unit

Material:
Tube: Aluminum
Optical lense: Optical glass

E39-F3C
Small Spot Lens Unit

Lens (3.7 dia.)

5 dia.

M3 x 0.5, 
effective 
length: 3Material:

Tube: Aluminum
Optical lense: Optical glass

Flat knurled nut

Note: E39-F3A-5 is a Lens Unit for the  
 E32-C31 and E32-C41.

Lens (4.8 dia.)

4 dia.

4.3 dia.

Note: E39-F3B is a Lens Unit for  
 the E32-C31 and E32-C41.

6 dia. 5.5 dia.

M3 x 0.5, 
depth: 4.4 

Material:
Tube: Aluminum
Optical lense: Optical glass

Flat knurled nut

23
(0.91)

13

3
6.5

16.5
(0.65)

25.2
(0.99)

24.1

10.9

5.8

E39-F32A, E39-F32A5
E39-F32B, E39-F32B5

Note: 1. L is as follows: 
  E39-F32A and E39-F32B: 1m (3.28 ft) 
  E39-F32A5, E39-F32B5: .5m (1.64 ft) 
 2. A pair of E39-F32A(5)'s is sold as E39-F32B(5).

E39-F32C, E39-F32C5

E39-F32D, E39-F32D5

Note: L is as follows: 
 E39-F32C: 1m (3.28 ft) 
 E39-F32C5: .5m (1.64 ft)

M3 x 0.5 depth: 4
Head connector
(nickel-plated brass) (4.6 dia.)

End cap (nickel-
plated brass) 3 dia.

Head connector
(nickel-plated brass) (5.6 dia.)M4 x 0.7 depth: 4

(7 dia.)

4 dia.

5 dia.M6 x 0.75 depth: 4

6 dia.

8.5 dia.

Note: L is as follows: 
 E39-F32D: 1m (3.28 ft) 
 E39-F32D5: .5m (1.64 ft)

Tube (SUS304 stainless steel)

End cap (nickel-
plated brass)

End cap (nickel-
plated brass)

Head connector
(nickel-plated brass)

7 dia.

12

L

12

12

L

12

12

L

12

Tube (SUS304 stainless steel)

Tube (SUS304 stainless steel)



C0

����������������

;
�����--��������

E39-F4 Fiber Cutter

E39-F9 Attachment for Thin Fiber E39-F10 Fiber Connector

1.1 dia.

3.6 dia.

(2.2 dia.)

Retention clip
(brass)

Splice
(polyester)

Retention clip
(brass) 2.2-dia. fiber

Insertion mark  
(for inserting into an amplifier)

3.8 dia.

Note: One set includes two units.  
 Included with Thin Fiber Unit.

3 dia.

Standard fiber insertion hole Thin fiber insertion hole

Material: ABS 2.2-dia. fiber

8 45
(1.77)

24.5
(0.96)

25
(0.98)

10 11.7

26
(1.02)

12.8

E39-F11 Sleeve Bender

E39-K2 Protective Attachment

E32-T84S

E39-K2

Two, 2.6 dia.

Two, 
5.1 dia.

Material: ABS

Application Example

10.8
(0.43)

27
(1.06)

42.5
(1.67)

10 10
R5

R7.5

R12.5

R10

C1

C1

10

8

8
(0.31)

16
(0.63)



C.

����������������

6�����������

■ �����-
���

■ ��!�
���

A��������	
����������
�

08 :�%�����
��������
��&�������
�������
��������
��6!�����8

.8 ���
�%����
���������������
���
��������
��&��������
��
�������

��
����
�����
�%��������
��
��%�������
������#����������
8

3�
���
�����	
����������
�

����
��������
��&������"��������
�������
��������
��*
��������
�

�6!��������
���������
8�<����������
��������
��*
��������
��&�����

�������
��6!������"����%���
�����������
�������8=

��
�� "9 ��
���
������������������	�
����
��
���%�
�"����*����

���������������
��%�	
������������
��&�����%�
�

���
��
�8������
��������
�
�������������	
�����
�������8

�9 ��"�����%���
�����
���"
���%�����	
���
�9������

����
����������������
��&����8

��!�
����
���;

�-�����		!��-�
����'���

����"�.@����<@8JH���=��������
������%�����
�
������

$���%���������2
��������
��6!������	
�"

������	��
��"��������

��
��������������
��&���8���������
����
�������������������
�
�������

$���%���������2
�������
������
��
��
����������
��&����������
�
�

����
����������C����<@8.@���=����8

Connection with K3NX-VD2@ Process Meter

E3X-DA-N

Monitor
output Orange

+V

0 V Blue

Brown 12 VDC, 80 mA*

12 to 24 VDC

K3NX-VD2@

*   Use this service power supply for the Sensor with refer-
ence to the power consumption of each Sensor.

Note: 1. Various I/O Units are available for the K3NX. Se- 
  lect an appropriate output type depending on the  
  application. 
 2. For details about the K3NX, refer to the K3NX  

Datasheet (N084) or the K3NX Operation Manual 
  (N090). 

3. This wiring is for the K3NX with DC power supply  
  specifications and the Monitor (Analog) Sensor  
  with DC power supply specifications. Check re- 
  spective power supply specifications before wir- 
  ing them. 



C(

����������������

��!�
���

08 :�%��� ��
� ������ ����� ��� ��
� �������
�� &���� ����� ��%�����

	���#
���(H��0-(�<����%�
�=����������6!�����8

.8 3�
�����
�	��#�������������
���%������	���#
������������
�

�6!�����8

5�	�*��

3%�����
����#���	������
��������
��&����"�����������	���
����
"���*
��

������
������<(=������������
���	
�����
�����������������
������<-=����

���"��	
��"8

6����
����
�������
���%����������������
��(H��0-(���%������

	���#
�������
��������
��&����������������
�%�
���
��������
��&����

"����:(����
"������"���
��8���
�����
�
�������
�"���
���

���%���	
�������
������1���8

■ 4��������


��!�
���

(���
������4��-�

��
������
���������
������
�������
��
�������
������%���	
��������

��"�7

&�
�������
����B
��"�
���8

�
�������
�� �����
��������/%


:(,:-����
" @8J?�!�E�����58

:1����
",

1�������8����%��

@8H?�!�E�����58

08C�������8����%�� @8.�!�E�����58

.�������8,(�������8�

���%��

@8.H�!�E�����58

�(.��0.��C�������8�

�
��������
�

@8J?�!�E�����58

�(.��0.��1����

���8��
��������
�

�(.��01 @8-H�!�E�����58

�(.��.0 @8CH�!�E�����58

�(.�:.0 &�����C���������
����7�@8-H�!�E�����58

:��
������C�����������
����7�@8J?�!�E���

��58

�(.��.C� @8J?�!�E�����58

�(.��013

�(.��.-�

�(.��.-�

�(.��.C�

@8.H�!�E�����58



C-

����������������

4����������-
�����������-����-
���

��
��()��������
�����������#�	%����8�$���
�������������
�����
�

��	
����������������
��()��������
��%�������
������"��������
�%�
�7

08 $���
�����

�
��*
���
�����
���*
���*
������
�����
���	
���������
��������
���

������"
����
����#�	%�����%�����������#�����
���8

���
���%��������
���	
��%�������
��(H��-���	
��$%��
����%��������
��

��������#������
���	
��������%��
���������
������
�������������
�

�������
���������
�����
�����
���	
��%�������������#8

.8 �������
�����

�
��*
���
�����
���*
���*
����������
���
����#�	%���������%����%��

��
���	
�8

��
�� �
��*
���
�����
���*
���*
����������
���
����#��
*
�����

�%����%����
���	
�8�<+
���
��
��*������
���	
���	
��%�
����

���������������
����#�����
�
��
����������������������
���	
��

����
���
�8=

(8 3�
��%������������	
��$���
�����,�������
�����

+
��%�
�������#����%����#���
����#�	%�����"�����������	�
����
��

�
���%�
�����
�	
�"

���0@ $�����-@ $8

■ 4����������
���

:�#
��%�
��������
���	
������%�������
��
�������
��������
�8���
��
���

�����������
������
��
��
������
���	
����������%�������
��
�8



CC

����������������

■ �!

����4����

6��
�������	
���������
���	
��$%��
�������
�
����
���
��
����������
�

��	
�����	
��%�8

3�
�����"����
���	
��$%��
������������
�����#
�����%����
���	
�8

������
���������#�����	
�����
�������
���	
������
�*
�������
�
��


��
�"�
�����
��������
���	
���������
��������
�8�&�
���
������"����

����
�%�
8

$�����������%�����
��%��
�����
��������
���	
��������
��
��	
�����

��
����
���������#����
�����������
����
���������#��������
���������

���
���������
����
������������"�������
��%��
�8

6��
�����
���	
���������
��������
��%�������
����
���������#8�3���
��

��	
���
��������
�"��������	
�����
*
��%��
�����
���	
��������
��
��

������
�"��������
����
���������#8�<������
���������������	�
����

����������.8.�������8���	
�������8=

��
��%���������
���������	
�%�
���"��
8�6����
����
����
����%�
��

�"��
����
��%���������
������
���	
��"����	
���%���������
��
������

�������
�"����	
��
�%�
�8���"����%�
����
"����
8

&�
�
���
����
������
��"�����
�������
�������<�
�
�������
������"����

���%�
=�����%�����������	
����������"�7

08 ��� �������
��� ��� �
���������� ����
�� ��� �� ����� ��	
�� 	
���


�����
��8

.8 �
�%�
���
��������
������
����9%��������
���������������
�

�������	
�������
����
�������������
��	����
�����"8

(8 6��
�����
���	
�����	
��%���������
��(HK�-8

-8 ������
������
�<����
���%����������
=

��
�� 6��
�����
���	
�������
����
�������������
��	����
�����"8

�����-
���

��������%��������
�����
���	
��%����8���
���	
��%�������*
���"����

����������
����H8?�!����.H8-�!�<����%���������
������	
��%�
���
�

��	
�����
�����=8

�������	
�����
���	
��%����	
�������
��
������	�
�	
����������%�8

�������	
�����
�
��
������
���	
��%�����<
5��%�������
��(.�� ��

�����(.�� �=8

!��
7 �������������
5�
�������
������	
��%����8

�5�
���*
�*�	�����������	�
�#���
���	
���
��8�&�
���
������"����

�
����������
*
�����	
���
���	�
�#��
8

Temporarily fitted

Thin fiber attachment (E39-F9)

A one-turn loop can 
absorb vibrations.

Tape



C1

����������������

%�������5���!�

��1�4""�3���*��%�����

��
�	
����������%�������
�������
�����

���%	
����%���	
��������
�

��������	�
8���
������
����
�	
����������%��	
���
�����
������
��

��
��
�������������
�"����	
8

6��
�����
����������
�������
�����

���%	
������
���

*
�+
��
������

	
�����
�������
�����

���%	
����"�����������
��%�*
������
���

*
�

+
��
��<�
�
�������
����%�
=8

��1�4�� � ��
�-
�*��3
�����(!���

6��
�������	
�������
�����
���*
���������%	
��������
��
�������
�����

���
�<���
"
�=������
��%	
8

3%�����
���	
���������
�����
���*
���������%	
8���
��%	
����%���	
�

�������������������
���	
����������"���
��"�
�����
��
�8���
���%���

��
�
������������
���������%	
8

�
�%�
���
�����
���*
���������%	
�������%���	�
�����
�"������
�

������
���%�8

&�
���
�������
�������
�����
�%�
���
�
������������
�����
���*
�

��������%	
8�����
�%�
���
�����
���*
���������%	
������������������
��

�������
�
�����������������
������
��%	
�����������
���������

	
���
������#
���������
�
�8

��1�4"/�4����������-
��

:�%�����
���	
������
�����������"�������
������"�������%���������

�������	
��%�������%���	
��������
���������	�
�	
���
���
����
�

����
��
�8

�
�������������
�"����	
��
�%�
��	�������5����
���.CL�"�
��

��	
�����
�����
��
�8


����.8.�������8���	
�������	
�����
��
�8

■ �����-
���

��!�
���������-
���

08 6��
�����
�:���
��������*
�$���
������������
��������
��&���

%������������#�����������
8

.8 >�����������
��&��������
��
������
/%��
�����
��������
�:���
��

�������*
�$���
��������*
�	

�����
��
�8

(8 ���������
�����#
���<���*��
��������
�����
�=������
����
�����

:���
���������*
�$���
�������������
���������
��
�����

���
��$���
�����8

��
�� ���������
�����#
��������
����
��"��������*
�8



CJ

����������������

5�	�*���������-
���

08 ����
���
��������
��&�����"����������
��
��������
����%�8

.8 ���
����
��
���
���������
��&���<�=�����	

���
�����
�������

��
����%�����
�����"�������
�$���
������
*
�������
��*
�

��8�<����������
��������
��*
�$���
������"����%���
������

������
����������
���������
��&����������8=

��!�
�������� ��
�

�
�
�����������"���������%��
�������������
��&����������*
��%��

������
������8�6����������
��%�
��������3���
8

+
���
���%�������������3���
���
��*
���
�������������
�:���
��

�������
��&����%�����������
�����������������8

��
���������������	
��
��*
��%�������
������"�����
���������

"������������������
�������
�������%�����������
��
������%��
��

�
������
�����8

08 6��
�����
�����������������	
��
��*
���������
������%��
��
���

��
��������������
���������
��&���8

.8 �
��*
���
������	�������������
��������
��&���8

��
��%�������
��()����!�"������
��
���
�$�������3�������
���

��%�����
�����3���
������
�"������"��	
��"8

 !���3
����
�����������-
����:��-�!�����������=

�()�$!00���()�$!.0���()�$!..7�(@�!���58

�()�$!0.7�0.�!���58



C?

����������������

3�
��%�����

■ �*������	����
��
�����������

E G�����
��%�������
5�

����
����
��*�����
������
��()����!8

E ��
���%����������"
�������
��()����!����#
��%�
��������


��������������
���"
���������
��8

E �����������������%�����
����������
��
�������
��()����!8

E ������������
�0@@�G�$�������
�������
����������
���
�

"�����$8

E �������%�
���
��()����!����
�*�����
����"�
�
�������	�
����


5�����*
�����
5����8

E �������������
�	�
���
�����������������
��()����!8

E ��
��()����!��������
�����%�
�����������63C@D�����������
��
�

���"��
�8

E ������%���	
�����
��
�������
��()����!8

■ ���
����
���

 �+���5���
�(�	�

E ��
��()����!�����
��������
��
��	9
����.@@�������
����
���"
��

�%���������%��
����8

E 6����"
������%����
�������
��()����!�������
�����

���
�
��
��������#
��%�
�����%���
!���
��()����!������8

E ��
����
��()����!�����%��
��
!����
������
���
��������������

����"����	
����%�����
������������������	%��������������%��%��"����	
�

�%��
��
!8

 �+���3!

�<

E �����������
�����
��()����!�������%���"�*
���������"�*


�
�����
����"
���%����8

E ��
��������������"����������"
���%��������%�
�����
�����
�

���%���<�;=�������
����%���<;=��
��������%���	
����%��
�8�
���


�"��
����
��()����!�����
5�
��
��
�����
����	�
�8

■ ������

�����

E ��
���	�
�����	
�
5�
��
��%�����0@@������*��
����
�"��


����#�
����������
����@8(���
.
8

E ��������%�����	�
��"�����%����������
�
5�

�����C@!8

�*������	�����������!�-
�����!��
�����!-
����

�����

E !
*
���%����
��()����!���	�
�������
����
�����%���"������"
��

���
�����������
��������	�
�8

■ ��D!�
	��


�!
!�����
�������-�� ��
�-
����4!�-
���

��
�
�����	
����
������	�����������
�����������������*��%
���%
����

��������������
���
�����8�6����������%��������
��
���
��
�����*����

<�8
8���
��
��
���
����
�����=�����
���������	�
��
�
�����8

�� 5;�����
���������

6����
�������������"����
�������
���3�
:�����
������%
��������"
��

����%�
��%������
����������������K
�
����������
���
�
�����
�"���
�

�
�����������
�%�
8

;

�-�����		!��-�
����

�
*
�����������
��&���������	
���������
��
������%�
��������%��8�

����������"
*
�������
���
��������
��&�����������
��������
��*
�

���������
��������
��&������%�������
������8�

'<�
���������D!�
	��


��
�����
�
�����
����������	
���9%��
��%�������
��
���
�$�������

3�������
�8�����������"
*
����
����
�����
�
���������*��%
���"
��

�������
����������
�����8�&��������
�������
����������
����������
��

����������
�%������������
�����
������8

■ (<
�-���)��!��

:����%���
�������	9
��������������
������������*��%
����
���������

*��%
����
�#
��������%�������%�����
�
��
�����������8�!��
����

��
�
�*��%
���
��
�
������%�����

�������������
��������
�*��%
8

�����6:�!�6
!���2
�!�����6!�:6��6:�����8�������*
���������
�
������������
�����*��
�	��.C8-

$��8�!�8��(0(��(�. 3����
�����&��

;�5;��������6����9

??C�:���
���*
�%


���������
�������:0+�CG?

#".��,.�.#.$

;�5;���?��(5;���3�??�


�
������$���
��
����*


����%�	%����6��1@0J(

"�,//�$$�;�5;�

;�5;��;��?���

;��	���������7,,"""8�����8���

&���������7,,"""8�����8���,�
�

$������������7,,"""8�����8���,���

@-,@.��������������������
�������������%	9
�����������
�"����%�������



